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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271381
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592723231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out the next term.

2DR, 5GS,8]T,?
Options:

1. = 90U

2. v 11MU
3. = 12MV
4. » 14NU

Question Number : 1 Question Id : 54592723231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HITelT Ug ATT h |

2DR, 5GS,8JT,?

Options:

1. = 90U
2. v T1MU
3. = 12MV
4. = T4NU

Question Number : 2 Question Id : 54592723232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the series?

D HK,P,T
Options:

1. = D
2. » H
3.+ T
4. v K

Question Number : 2 Question Id : 54592723232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST H Teld T Tl ?

D,H,K,P, T

Options:

1. = D
2. = H
3. T
4. v K

Question Number : 3 Question Id : 54592723233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the word ‘CREAM’ how many pairs of words have as many
letter as in English alphabet?

Options:

1. v One
2. TWo
3. = Three
4. = Four



Question Number : 3 Question Id : 54592723233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfsg CREAM 'H 3=l JufATeT & 3TAN Tohrdel 3TERT A 3dar
& 3T & o9aar =9 osg # &7

Options:

1. v Tk
2. =
3. » diel
4, = A

Question Number : 4 Question Id : 54592723234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. CKI
2. AEK
3.QSU
4, UXY

Question Number : 4 Question Id : 54592723234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a0 fahenl @ fHea 1 |

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. CKI
2. AEK
3. QSU
4. UXY



Question Number : 5 Question Id : 54592723235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Greece : Euro
2. v UAE : Dinar
3. = JAPAN : Yen
4. = Croatia: Kuna

Question Number : 5 Question Id : 54592723235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferrafa@d wedsr weel #, o fARwd ase g v g, o
O Ush T SIsH T3 S8 H o T @fead aFeg ey &
39 SN I Jol TS e 37eFT g F TS g

Options:

1. = g - IO

2. v JqUs : IR
3. % ST : A
4. = HIORRT ;g

Question Number : 6 Question Id : 54592723236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. % I : ST
2. % TS: PO
3.« VX: UW



4. v UT: VW

Question Number : 6 Question Id : 54592723236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mmﬁwﬁﬁﬁﬁwaﬁgﬁm

Options:

1. = | ST
2. = TS: PO
3. = VX UW
4. v UT: VW

Question Number : 7 Question Id : 54592723237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

India : : - Australia : Kangaroo

Options:

1. = Lion

2. v Tiger
3. » Zebra
4, « Wolf

Question Number : 7 Question I d : 54592723237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T wea &, U a0 Deredl # @ Tafaa 38T / o= /
HEAT *1 glAT|

T ;1 3TECToT: HhaT®

Options:



4. « S

Question Number : 8 Question Id : 54592723238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

FH : US : GJ:
Options:

1. = UV
2. = NO
3. v TQ
4. % AZ

Question Number : 8 Question Id : 54592723238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el wesT &, U 917 Gehedl & & FaTad 378 / o /
HqEAT 1 GlAv|

FH: US = GJ:
Options:

1. = UV
2. = NO
3. v TQ
4. = AZ




Question Number : 9 Question Id : 54592723239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

BD : I ::
Options:

1. = CM : KK
2.5 I]: 0]
3.« CO:FT
4. v DP:EY

Question Number : 9 Question Id : 54592723239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el w2eT A, U 917 gehedl A & GaTad 376 / o /
HEAT T v

BD: CI ::
Options:

1. = CM : KK
2. = |J:|J

3. = CO : FT
4, v DP : EY

Question Number : 10 Question Id : 54592723240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if the word DRAMA 1s coded as
AMARD, then how is the word CRICKET coded in that
language?

Options:

1. » TCKKIRC



2. » TKECIRC
3. v TEKCIRC
4. « TEKCRIC

Question Number : 10 Question Id : 54592723240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U TATRTT e AT A, 39X DRAMA ersg ST AMARD & &9
A Afsa forar S &, @ CRICKET ersg &l 38 15T # &d
FIfea foRar ST &7

Options:

1. = TCKKIRC
2. = TKECIRC
3. v TEKCIRC
4. = TEKCRIC

Question Number : 11 Question Id : 54592723241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 'Pen’ is called 'Table’, 'Table’ is called 'Computer’,
'Computer’ is called 'Pencil’, 'Pencil’ is called 'Mango’ and
'Mango’ is called "'Watch’, then what we eat?

Options:

1. = Pencil
2. » Computer
3. = Mango
4. v Watch

Question Number : 11 Question Id : 54592723241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IfE Ut Y Tl FET SACT §, 'Sl P 'HYST FHFT ST g,
HOYT DI U FHET ST §, Wl T A HET AT &
AT '3TA Y 'gEY FHET SAGT & O §F AT T 57

Options:

1. = of@e
2. & FYI

3. % TH
4. v T3T

Question Number : 12 Question Id : 54592723242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four alternatives
containing combinations of these numbers. Select that
combination of numbers so that letters arranged accordingly,
form a meaningful word.

INOTAC
123456

Options:

1.4,6,3,5,2,1
2.v5,6,4,1, 3, 2
3.24,06,5,2,3,1
4.%5,2,3,1,6,4

Question Number : 12 Question Id : 54592723242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafafaa wear &, 3&RT #1 v @ag far o &, g8 1,
2,3, 4, 5 3t 6 1 Rw 717 &, 37 g3t & Al gl
IR [@Feq U 710 & §@IT3 & 39 IS T I

iR 378 & 3e[AN SYAEAd &I, Uk HTF 2Ieg T |

INOTAC
123456

Options:

1. = 4,6, 3, 5, 2, 1
2.v 5,6, 4,1, 3, 2
3. = 4,6,5, 2 3,1
4. = 5, 2,3, 1,6, 4

Question Number : 13 Question Id : 54592723243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A B, C, D, E Fand G are sitting around a circle facing at the
center. D is third to the left of A who is second to the left of F.
E is not a neighbor of either F or D. C is third to left of B.

Who is sitting between Gand B ?

Options:

1.+ F only

2. = D only

3.« BothFand D

4. = Data inadequate

Question Number : 13 Question Id : 54592723243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B, C, D, E, F, 3R G, U Jedlsh Al W hog HI 3T
7E FUET S EI D, AF I A AU E S R F & sw @
g &1 E, F a1 D &7 usidY @6l €1 C, B & &0 & e
Tl W &

G 3 B & A< i dor &7

Options:

1. v @l F
2. = shae D
3. = F 3T D g=t
4. = BT 39ATT

Question Number : 14 Question Id : 54592723244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yami scored as much as Disha. Kabir scored more than Romi.
Romi scored more than Yami. Moni scored less than Disha.
Shami scored less than Moni. Who scored the lowest?

Options:

1. » Moni
2. » Romil
3. = Disha
4. v Shami

Question Number : 14 Question Id : 54592723244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ATAT o Srem forder &1 TR ol e & AT & 31fas TR
forar| TAT & ITAT @ AR TR ThaT| AT o &M & A
ThIT TRATI ¢TAT o AT & FH THIT Fa0| Thdel TaH FH
TR fhar?

Options:

1. = Hlar
2. % AT
3. = grem
4. v AT

Question Number : 15 Question Id : 54592723245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each of P, Q, R, S and T belongs to a different profession
among - teacher, doctor, lawyer, police-officer and banker. P
is the police-officer and Q) is neither the doctor nor the
lawyer. R is the teacher and S is neither the banker nor the
lawyer. Who among them is the banker?

Options:

1.=T
2. v ()
3.+« QorT
N

Question Number : 15 Question Id : 54592723245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PQR,S 3T T # & Ucdsh Uk 37a1dT U o 3dd TaT & -

ferereh, sTefex, gehrel, Glerd-31faaiT 3R dFT| P glog-31fasil
g3 QaArsier g3l agrana gl R et & 30 S

T ar §T § 3T T Er g &1 3TH & Hid SR 57




Options:

1. = T
2. v Q
3.+ QI T
4. = S

Question Number : 16 Question Id : 54592723246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five ladies P, Q, R, S and T read a Novel.

The one who reads first gives it to R. There were two readers
between Q and P. The one who reads last had taken from P. T
was neither the first nor the last reader.

(Q passed the novel to whom?

Options:

1.+ R
2.% §
3.=P
4 =T

Question Number : 16 Question Id : 54592723246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UT Afgelr3lt P, Q, R, S 3R T & U+ 39«drd Y|

ST U8el UgdT §, 98 R &l 2ar g1 Q 3T P & &= ar ures 24|
ST TaA TeaT &, 95 P @ Toram om, T o af uger 3w o &
3TAH ITSH|

Q @ 39 rass ug I=T?

Options:



1. v R
2. » S
3. = P
4, = T

Question Number : 17 Question Id : 54592723247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rohit is the brother of Kumar, whose only sister is mother of
Singh, Sneha 1s maternal grandmother of Singh. How is
Kumar related to Sneha?

Options:

1. = Daughter-in-law
2. v Son or Daughter
3. % Aunt

4. = Nephew

Question Number : 17 Question Id : 54592723247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ﬂ%ﬁiwa-m T AT &, TSGehT ThATT g5 &g T AT §, Tar
Ag FT T F FHN AT 8 8 gafad 87

Options:

1.%§|§
2.#%‘:{W%‘:ﬁ'
3.%ﬂﬁﬁ/ﬂﬂﬂ/ﬂ‘fﬁf§ﬁ

4. = AT [ HATST

Question Number : 18 Question Id : 54592723248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the questions below has four Statements followed by two
Conclusions . You have to consider every given statement as
true. Read the conclusions and then decide which of the
conclusions can be logically derived.

Statements:

All Winners are Chicken.

All Chicken are Dinner.

No Dinner is Wheat.

All Wheat are Rice.
Conclusions:

I. Some Chicken are not Wheat.
II. All Dinner are Rice.

Options:

1. = Only conclusion I follows

2. * Only conclusion II follows

3. = Either conclusion I or II follows

4. v Neither conclusion I nor II follows

Question Number : 18 Question Id : 54592723248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e fqu are wealt 7 & wue & S IR v FT TR
Fd &1 TR &T AT Yk A I oI

HTeTalT BIETT| TShY T U¢ 3T T I & T shidd AT TSy
ToREITd ®T H 30T HIAT &

FHaTeT:

g1 faotar eeat &1
T ~era fBaT €I
F15 fEaw A 7T &
wefT g AT E
IGLC P

. F5 Rea Ag T E
. Tl 3o amae g

Options:

1. = ohdol ToISehY | HHTELOT Tl g

2. % hao [ashy || 3HTEOT FIAT &

3. IT A faIseRd | AT || 3HTEIOT FIAT
4. v F5 Y TeTshy 3HeEOT T8l T

Question Number : 19 Question Id : 54592723249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question, there is a statement followed by
two courses of action, numbered I and II. You have to assume
everything in the statement to be true to decide which of the
two suggested courses of action logically follows for pursuing

Statement:

Teenagers these days are turning more and more violent.
Course of actions:

I. Ban use of computer games.

I1. Ban use of internet.

Options:

1. = Only I follows

2. = Only II follows

3. = Either I or II follows

4. v Neither I nor II follows

Question Number : 19 Question Id : 54592723249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafe@T wead AT FUeT & 1€ & Fgrr | 30T 1 &
3TIRT SH FUeT I Tcd Al FT dF Flall & T o =T T

FNAE H & Hid AT dlfcher 9 & TEl g

T

s feall TopeiNTaTar & s 3fae | 3+ Bod & @ &l
TR FT UTSThA:

. T AA T vided|

| SeTAC T 3TN &5 Fi|

Options:




% el | TEIVT FIAT &

« el |l 3TTETOT LAl &l

« T ar | A7 |l 3TETOT Tl &l

v o @l | 3T o & |l 37e[aeor FIdT g

Question Number : 20 Question Id : 54592723250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following series:

ol

88, 40, 16, 4, -2,?
Options:

1.+ -5
2. % -1
3. % 2
4 % -3

Question Number : 20 Question Id : 54592723250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foresTlel =T STl T T L

88, 40, 16, 4, -2,

Options:
1. v -5
2. % -1
3. % 2
4., » -3

Mental Ability2



Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

2
5459271152
0

0
No
No
0
20
No
Yes
0

0

Mental Ability2

Section Id : 5459271152

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number : 1
Sub-Section I1d: 5459271382
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592723251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the series:

17, 26, 51, 101, 181
Options:

1. = 17
2. % 181
3.+ 101
4. % 26

Question Number : 21 Question Id : 54592723251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



STl H el T&AT AT Y|

17, 26, 51, 101, 181

Options:

1. 17
2. = 181
3. v 101
4. % 26

Question Number : 22 Question Id : 54592723252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.324
2. 156
3.720
4.136

Question Number : 22 Question Id : 54592723252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w av Jreul & O fHea {-i{se.uslfr?:lﬁl

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 324
2. 156
3. 720
4. 136




Question Number : 23 Question Id : 54592723253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd pair from the given options:

Options:

1. = 8:100
2.%x9:121
3.26:64
4. v7:.25

Question Number : 23 Question Id : 54592723253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu o faskedt & | favA ST I=:

Options:

1. = 8 : 100
2. = 91 121
3. = 6 : 64
4. v 7 : 25

Question Number : 24 Question Id : 54592723254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
question:

Options:

1.=6(9)9

2. % 8(36) 14
3. = 5(4)7

4. v 9(25) 11

Question Number : 24 Question Id : 54592723254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu v [dheul A O THeedd T&AT hl da|

-2

Options:



1. %= 68 (9) 9
2.« 8 (36) 14
3.« 5(4)7

4. v 9(25) 11

Question Number : 25 Question Id : 54592723255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

(12, 244, 312)

Options:

1. v (212, 28, 496)
2. = (300, 137, 296)
3. % (312,436,291)
4. = (530, 642, 861)

Question Number : 25 Question Id : 54592723255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeaTel@a e A QU 30 [Aeredl A & gFaleud
ITETY/TsS/TEIT <Rl g’féﬁul

(12, 244, 312)

Options:

1. v (212, 28, 496)
2. = (300, 137, 296)
3. = (312,436,291)

4. = (530, 642, 861)



Question Number : 26 Question Id : 54592723256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term?

51
40
28

LR =

CY I

Options:

1.1
2.v 3
3.8 2
4. %0

Question Number : 26 Question Id : 54592723256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ENEEI Rea?

7|51 |2
40
5|28 |7

Options:

1. % 1
2.
3. % 2
4.

Question Number : 27 Question Id : 54592723257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If '+ means “x¢, " means “+°,‘’x’ means ‘“+‘ and “+* means -,
then answer the following questions based on this
Information.

6+7x3-8+20=7
Options:

1. = -3
2. %7
3.v 2
4. %1

Question Number : 27 Question Id : 54592723257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife '+ T 37T x-S 3 + R, xR A+ F A e
FT AT & -, dr T ATARNRT o IR W AeaATa@d uear
3ca ¢

6+ /x3-8+20=7

Options:

1. = -3
2. %/
3. v 2
4, % 1

Question Number : 28 Question Id : 54592723258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

statements:
Z>P,P<M,M«<]
Conclusions:
LLP<]

II.]<Z

Options:

1. v only Conclusion I follows

2. = only Conclusion II follows

3. = If either Conclusion I or II follows

4. = If neither Conclusion I nor II follows

Question Number : 28 Question Id : 54592723258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A fow aTe wed H, Tk FHUAA F G af vy fow arw & |

MTUhT fCU IT0 FUe hr eI HTeToT &, Hol & I 3TH a W
AT dzar & @y faweor s & 3R R ag w8 o e e
FgT H F FleT AT fAvhy dlfereh T & 30T FIAT §

e

Z>P,P<M M<J
IGLE b

. P < J

. J < Z

Options:

1. v ol [aShy | AETOT ] &

2. % haol oSy || 3TEOT AT &

3. * I A Tovhy | AT || 3HTEIOT LT &

4.« o o sy | 3T & &1 || 3HeEIor KT &

Question Number : 29 Question Id : 54592723259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

256,280,304,326,352

Options:

1.v 326
2. % 256
3. = 280
4. % 352

Question Number : 29 Question Id : 54592723259 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

&T 35 e H T 9§ AT

256.280,304,326,352

Options:

1. v 326
2. = 256
3. = 280
4. = 352

Question Number : 30 Question Id : 54592723260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following diagrams best represents a
relationship among Women, Mother and Teacher?

Options:

QD
.00



Question Number : 30 Question Id : 54592723260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H & hid & =T Afgenr, AT 37 Wees & §
oy &7 yafafdcg sar &2

Options:

1. ¢

,.QO0
,.0O0C

Question Number : 31 Question Id : 54592723261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given figure, the circle represents Dentist, rectangle
represents Priest, Square represents politician and triangle
represents Indians. Which of the following set of letters
represents those who are Priest but not Politicians?

Options:

1. v AH
2. » AF
3. = HFG
4. » DAH

Question Number : 31 Question Id : 54592723261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& a7 IRTAAr H gcd, &d el a7 didfafded T &,
3Had, JoIRT T uidafafaed Far &390, adr 1 gfdfetaca
FLAT & 3T BT 9RGT 1 uafaiaca swar & ar sia ar
38T 31 ola T Udfafded FTar & S GoIdT g, olfehet aAdr
Tar?

Options:



1. v AH
2. = AF

3. = HFG
4. = DAH

Question Number : 32 Question Id : 54592723262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In following question, there is a set of four figures four figures
forming the problem figure and four other answer figures
marked as {(a), (), (¢) and (d) is given.Select the answer figure
which possesses the same characteristic.

Problem figures
Note: For this question, discrepancy is found in question/answer. So,this question isignored for al
candidates.

Options:
\_/

1 L\
<)

2. LY




Q
R AN

Question Number : 32 Question Id : 54592723262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

weeT: FafoiEd Iee H, IR T 99 3Thid A 3T IR Scai-
3R # (a), (b), (c) 3 (d) & §7 H &G0 IV &1 3H 3
HTHTT T =T Y TFH FATST faevar &l

wes 3ehfa

Q[ T TS
SIRE A R

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
s/

1. 1\
)

2. [




Question Number : 33 Question Id : 54592723263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. You have to
select that figure from the set of answer figures which would
come in the place of question mark (?)

Problem Figures
M ]| 2
— L] —
1 2 3 4
Options:

I

1. =

-l

It

Rl

4, v

Question Number : 33 Question Id : 54592723263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR 3hic & Ugel A€ hT GEAT 3TR{d,Tgelr 3Mhld & Th
RTT HFaed AT & | 3Rl 3cc i & 8¢ § 39
3TpTT ST el LT BT ST UeeT fEel (7) & FUTe 9T 377eem|

T 3t

— '] —
1 2 3 4
Options:

I

1. =

1
2. %

1§
3. =

I
4, v

Question Number : 34 Question Id : 54592723264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Ql'@|®| 2

(A) (B) () (D)
Options:_ _

5

Q
©
%

4 v

Question Number : 34 Question Id : 54592723264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



weal fRIEel (?) & T W 3ol 3Thd & ¥ H T 3fed

bt

IEAGECE]
C o

Ql'@|®| »

(A) (B) () (D)
Options: )

~

Q
©
%

Question Number : 35 Question Id : 54592723265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions, element (i1) is related to element
(1) In a particular way in four pairs of figures. Find out the
pair of figures in which the element (i1) is not related to
element (1).



Options:

K< 4

1 « TR el

¢

Mhdh
AL

Question Number : 35 Question Id : 54592723265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafafad weal &, 3Mpid & TR #ET & Tca (i) dca () &
Ueh AT U § T &1 3o 3Tpid ST T a7 o9
Se® aca (i), dca () ¥ T&faT 781 gl

Options:

X 4

1 = T el




Ndh g

w2

Question Number : 36 Question Id : 54592723266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

Options:
1. * WOMAN

7 MOAYK

3. % MOWAN

4, % MOWWN

Question Number : 36 Question Id : 54592723266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few 910 fehedl H & TolosTlel e T HET TTeil hT Sid 3Thic
ATd ISV

Options:

1. = WOMAN

2_$MDWU’H

4, ®  MOWWN

Question Number : 37 Question Id : 54592723267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A piece of paper is folded in the manner shown in the
question figure(s). Select the figure showing the unfolded
pattern after the punches (cut).

Question Figure:

A H O
b, :
RN
X Y

Options:




o 0O
O

? % O

o 0O
o]

3 ¢« IB_0
[m]
-

4. = 82

Question Number : 37 Question Id : 54592723267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush TITST s Zohs sh Uee 3Thicr H RV a0 ol & AlST
IRT &1 e & FE WIed ﬂﬁg@(muﬁﬁg)ﬁa@ﬁﬁmﬁ

 — N
3‘|I°rld hl el h{|

P ED 3'I‘I'm:ﬁzfz




Question Number : 38 Question Id : 54592723268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find out which of the figure (a), (b), (¢), (d) can be formed
from the pieces given in fig. (X).

q9al
3esfer

O
Vv
D Q

Options:

1. =

A\




o

Question Number : 38 Question Id : 54592723268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(@), (b), (c), (d) H & WleT T 3MFIA,3MFIA (X) & Fardr
HehdT &7

q9al
3esfer

b

Options:

V|

| |




s

Question Number : 39 Question Id : 54592723269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question an unfolded dice is given . From the
given alternatives which of the following will be opposite of
M?

O
T | K
L
M| U

Options:

1.« U
2.5 T
3.% L
4. v K

Question Number : 39 Question Id : 54592723269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yRal: e fqU 90 geer A, Ueh e grr T arm g1 fashedt
T 2T AT FiST & st ar M & Bada gem?

Q
T | K
L
M| U

Options:

1. = U



2. % T
3. = L
4. v K

Question Number : 40 Question Id : 54592723270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cube of 3 cm side is divided into smaller cubes of side
lcm.How many times will it be cut to obtain smaller cubes?

Options:

1. % 2
2. %4
3.v0
4, % 8

Question Number : 40 Question Id : 54592723270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 QAT ol & Uk OeT I 1 TAT T F B g A fqsnierd
foRaT SITdT &1 BI¢ g T UItd lal & o0 38 Tohdeil aX

hIcT STTT?

Options:
1. = 2
2. % 4
3. v 6
4. » 8
General Awarenessl1
Group Number : 3
Group Id : 5459271153
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459271153

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271383
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592723271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following important terms of Indian Classical
dances and their meanings are not correctly matched?

Options:

1. * Tandava - Heroic, bold, vigorous and masculine
classification of dance

2. » Lasya - Soft, lyrical, graceful and feminine classification
of dance

3. v Satvika - Costume
4. = Vachika - moods and emotions

Question Number : 41 Question Id : 54592723271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR MET el & farefel&d Agcaqor ersal 3N 3l
3T # & Flear FHona T@r @67 &7

Options:



% dTsd - qENIfR, dRitad, fosifr 3 3o seg 1 g
x ST - TR, FAT o&cHS AT FaT ofcd F1 Tt
Hifcash - T

* GIRT - a3 g aar

Question Number : 42 Question Id : 54592723272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian festival is mainly celebrated in Punjab by the
Punjabis and is also called the harvest festival of Punjab?

Options:

1. = Chhat Puja
2. v Lohri

3. = Ugadi

4. » Blhu

ol
<

Question Number : 42 Question Id : 54592723272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il AXAT AER A& T T YIS H TSN ZaRT HeAT]
ST § 3T 30 Ag’ &l 9oe hT Bl T IIgR HT Far
ST 87

Options:

1. « BT Yol

2. v ogsr
3. % 39Mar

4. = g

Question Number : 43 Question Id : 54592723273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The (i) is one of the finest monuments situated in (ii) :

Options:




1. v (1) Gingee Fort (i1) Puducherry
2. = (1) Hawa Mahal (i1) Chennai

3. » (1) Charminar (ii) Kolkata

4. = {1) Purana Qila (ii) Bengaluru

Question Number : 43 Question Id : 54592723273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(N1 # uq scpvean TARST # °§ T §

1. Q (i) TSreir forerr (i) gg=T
2. = (i) gaT #gel (i) Aeals
3. = (i) IRAR (i) FIeleprdl

4. = (i) gU= foRer (i) SaTe®

Question Number : 44 Question Id : 54592723274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Bhatiali is a folk music of:

Options:

1. = Gujarat

2. » Maharashitra
3. v West Bengal
4. » Tamil Nadu

Question Number : 44 Question Id : 54592723274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T ok T &

Options:

1. % ITa_Td
2

2. % HENTSS
3. v 9TegH SaIel




4. = AfHAE

M

Question Number : 45 Question Id : 54592723275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If the Reserve Bank of India 1s increasing the Bank Rate and
the Repo Rate then the economy is going through:

Options:

1. » Recession

2. v Inflation

3. = Deflation

4. = It can't be determined

Question Number : 45 Question Id : 54592723275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il AR R de, dF 2T 3 I T & gig wT W@ g, a
fegaET q I T &

Options:

1. = HT
2. v HaEHhITT

N

3. = 39EhRITT
4. » Jg TORd dar T ST hdl &

Question Number : 46 Question Id : 54592723276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a part of the fiscal policy of the
government?

1. Supervising the banks

1. Deciding the taxes

Use the codes to give the correct answer.

Options:

1. = Only 1




2.+ Only il
3.« Bothiandii
4. = Neither i nor ii

Question Number : 46 Question Id : 54592723276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaT&T # & AT GLRR Rl TSTRNIT Alld hT Uk @edr
X
. SRl ST TITETOT
Il. pY TT Il

HET 3cca¥ ot & oI e T 39T FHT

Options:

1. % hael |

2. v Had i

3. = i 3T ii g

4. = o ari T o & i

Question Number : 47 Question Id : 54592723277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following organizations makes
recommendations on the decision of MSP?

Options:

1. = Ministry of Finance

2. x C80

3. v CACP

4. = Both CSO and Ministry of Finance

Question Number : 47 Question Id : 54592723277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFeIToIT # & il A7 IS TATHUT & fauiy o faweriver
o 87

Options:

1. = &cd #FIC™

2.« drTE.at. (CSO)

3. v @TELHL (CACP)

4. = WU AR faca F7FET gt

Question Number : 48 Question Id : 54592723278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is incorrect with regard to
the reverse osmosis process of purifying water?

Options:

1. = This process can be used for desalination of sea-water

2. = A film of cellulose acetate is generally used as the
workable porous membrane in this process

3. v The process of osmosis, if started cannot be reversedin
direction

4. = A variety of polymer membranes can be used as
membranes in this process

Question Number : 48 Question Id : 54592723278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @&d & & i T FUT TTaT el Fr gfaend
A0TSR aT & &Y H Teld &7

Options:

1. = 3 YThT T 3UTNET THT ST & [Gerauiilshior # fohar
ST §




2. » U U IUGFT FIUREHT Feell & ¥ A
AT Ho[ell e CHICE $T Thedenr 3UAMT fhar Srem &

3. v Uiaeld TOEIor fr ufshar Ife 3I/ET & ST ar 3T
feem &1 giafda sTar ohar ST dehd

4. » 3 UfhdT o oIv i ThR %ragﬂzﬁw%ﬁm’fm
3T ThIAT ST TohdT &

Question Number : 49 Question Id : 54592723279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the main reason that diseases like
Cholera, Diarrhoea and Dysentry are transmitted?

Options:

1. = Sneezing

2. = Alr pollution

3. » Physical contact like touching
4. v Poor sanitation

Question Number : 49 Question Id : 54592723279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafa@a & 8 &ar,g8a 3T afrer ST aATRET & thea &1

&Y FRUT T §7

Options:

1. % ke T

2. % arg YgNoT
3. % NI U oid Tl

4. v TITHAT hT TS ITEAT

Question Number : 50 Question Id : 54592723280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Through which of the following modes can the transmission
of HIV-infection not occur?

Options:

1. = by transfusion of contaminated blood and blood products

2. = by sharing infected needles as in the case of intravenous
drug abusers

3. » from infected mother to her child through placenta
4. v from physical contact with an HIV-infected person

Question Number : 50 Question Id : 54592723280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFafeled & @ Fiad ATETH & TIdT k1 HhAOT 8l gidr
&7

Options:

1. » HENT T&d 3 ST 3eurdl & 3ramer |
2. » Goh{AT FFAT & AHAT TAT F SHGTTh 37 forT
($ETAaTHS) AT FIT hT FYAWET Fa dlell & AHA A

3. » HHIAT AT ¥ W gNT 38 g &

4, v UIEAT hiAT SATFd o 1T ARG 9+ &

Question Number : 51 Question Id : 54592723281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of Phylum —
Platyhelminthes?

Options:

1. v Tapeworm

2. * Roundworm
3. » Sea Walnut
4. = Earthworm



Question Number : 51 Question Id : 54592723281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H & HIdAT T ColdlaleAdIST T Tah 3ETEL0T &7

Options:

1.?®T‘I;Wﬁ?
2. = Aol A
3. « WHL T
4. = HIM

Question Number : 52 Question Id : 54592723282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are elemental semiconductors?

Options:

1. * Anthracene and doped pthalocyanines

2. = Copper and Mercury
3. v Silicon and Germanium
4. = Polyaniline and polythiophene

Question Number : 52 Question Id : 54592723282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T # @ a8 diicas UATAFR &7

Options:

1. » Ueydla 3T Alfed daregriay
2. = dTem 3T 9NT

3. v [afeela 3R ST

4, = lelWelellel 3 qlelramaihe

Question Number : 53 Question Id : 54592723283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a source of protein?

Options:



1. = Rice

2. v Fishes
3. = Wheat
4. = Apple

Question Number : 53 Question Id : 54592723283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TiaTToT&d H & el WElel &7 Gid 87

Options:

1. = Tdel
2. v ASTeHl
S.sxzﬁé
4, = OF

Question Number : 54 Question Id : 54592723284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following trophic levels posesses the maximum
amount of energy?

Options:

1. v Producers

2. = Primary Consumers
3. *» Secondary Consumers
4. = Tertiary Consumers

Question Number : 54 Question Id : 54592723284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tt # O i Ir 9INT TAT FoiT bl ATURIH AT IT-AT &7

Options:

1. v 3cUIch
2. » Jraf@< 3Tl




3. » fgdrr sgsierar
4. » JAR ITHIFAT

Question Number : 55 Question Id : 54592723285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following are hygenic practices?

Options:

1. = Throwing trash from moving vehicle
2. = Spitting on road

3. v Brushing teeth

4. = Using same clothes atleast twice

Question Number : 55 Question Id : 54592723285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @&T # @ Hia-8 3R Gadr mar 87

Options:

1. % Told aTgel & AL thehal

2. = HSh T Yhal

3. v TIdl &l HATel el
4. % Tk @I FUS FT FH T FH ar T ST HIAT

Question Number : 56 Question Id : 54592723286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the primary tributaries of rivers flow parallel to each
other and secondary tributaries join them at right angles,
what is the pattern called?

Options:

1. = Centripetal
2. v Trellis

3. = Radial

4. = Dendritic



Question Number : 56 Question Id : 54592723286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oIS HET oAfedl Teh-gal & THIC Sl 8 AT TG aAfei

38 THARIOT 9T fHedr a6, af 0F UfasT &l T Far Adm g7

Options:

1. % HTHheal JUAE TiaST

2. v SITelleAT 39arg Tfcdsd

3. » 3T g QT wasy
4. = FETRR TATE IITHT

Question Number : 57 Question Id : 54592723287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following places is famous for Karewa
formations, that are useful for the cultivation of Zafran?

Options:

1. v Kashmir Himalayas

2. » South Asian Glaciers

3. = Darjeeling and Sikkim Himalayas
4. = Eastern hills and mountains

Question Number : 57 Question Id : 54592723287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed & & ST TUTT Far & olw uig &, S8l
ST ST BT hr SATar &7

Options:

1. v FHAX BATT

2. = ZE0T URITS TAfRRR

3. = greireer 3N RAfEwa Famem
4. « qal vgrsar A gad




Question Number : 58 Question Id : 54592723288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Chemically, the (1) are rich in lime, iron, magnesia and
alumina. They also contain (ii) . But they lack in
phosphorous, nitrogen and organic matter.

Options:

1. = (1) alluvial soil (i1) potash
2. = (1) black soil (i1) sulphur
3. v (1) black soil (i1) potash

4. = (1) alluvial soil (ii) sulphur

Question Number : 58 Question Id : 54592723288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRt e & (i) H e, oilg, HeeNferr qer
U&= & docd 319k AT A 90 S 81 548 (i) T

AT o g1 FTAT &1 AR S8 BIERU, dsded AT S
geraf T FAT BT

Options:

1. = (i) STellg Har (i) wrerer
2.« (i) A FAT (i) TEHT
3. v (i) STell HaT (i) 9rerer
4. = (i) STelle HAT (ii) TeUH

Question Number : 59 Question Id : 54592723289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A crop is grown In kharif season in semi-arid areas of the
country. India ranks second in the world in the production of
this crop after China after losing a large proportion of this
crop’s growing area to Pakistan during partition. Which crop
1s being talked about?



Options:

1. * Wheat

2. v Cotton

3. = Sugarcane
4. = Rice

Question Number : 59 Question Id : 54592723289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ig Uk ®Hel § S 3 k Ig-eok HEN A TG I A AN

ST &1 39 B o S5 ST 3cUTeel &7 29 [OHTeTeT & gFg
qifehEcTel # eIl Silel o YA HR 1 30 Bl o 3cdlge

H Toeg # TeT & ToTATT GET FTATT &1 Torg HHFel T &1 &

BT &7

Options:

1. = 31

2. v hO™

3. # ool
4. = dAldel

Question Number : 60 Question Id : 54592723290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following decades are referred to as the period
of population explosion in India, which was caused by a rapid
fall in the mortality rate but a high fertility rate of population
in the country?

Options:

1.+ 1951-1981
2. % 1971-1991
3. % 1961-1971



4. = 1991-2001

Question Number : 60 Question Id : 54592723290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT A 8 S8 g9 FF IRT & JTa8&dT [JEawmie Hr
3l & ®7 7 ST STar & S S HT RA FoF T 3R
STAGEAT T 3T Uolalel &L & HILOT g3Tm?

Options:

1. v 1951-1981
2. % 1971-1991
3. » 1961-19/1
4. = 1991-2001
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Group Id: 5459271154
Group Maximum Duration : 0
Group Minimum Duration : 0
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Break time: 0
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592723291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

India with its area of (1)___ million sq. km accounts for (ii)___
per cent of the world’s land surface area.

Options:

1.+(1) 3.28(i) 24
2.%{1)5.28(11) 24
3. = (1) 3.28 (i1) 5.2
4. = (1) 1.28 (11) 34

Question Number : 61 Question Id : 54592723291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRT &1 §9% (i) o T ThallARL & oI 92T & TJelig
ST T (i) WTaerd #meT &I

Options:

1. » (i) 3.28 (i) 2.4
2.« (i) 5.28 (ii) 2.4
3. = (i) 3.28 (ii) 5.2
4. = (i) 1.28 (ii) 3.4

Question Number : 62 Question Id : 54592723292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Read the following verse carefully and identify its source
from the options given below:

“Bring, O strong one, this sacrifice of ours to the gods, O wise
one, as a liberal giver. Bestow on us, O priest, abundant food.
Agni, obtain, by sacrificing, mighty wealth for us.”

Options:

1. = The Upanishadas



2. v The Rigvedas
3. » The Tripitaka
4. = The UttaradhyayanaSutta

Question Number : 62 Question Id : 54592723292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoad oe waeYEs ¢ va fav a0 fawedl # & g@

GId T Y&l P |

“S eTforderell 24, maﬂlﬁai@%&wuﬁ d of SV &
FI&A, 3T a1 Fah ardT g1 § Qad, &7 Td IR Ty
Tare 37|

Options:

1. = 3Ufaug
2. v ®Idg
3. » Acs

4. % ScdETTeT HAT

Question Number : 63 Question Id : 54592723293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kitab-ul-Hind is written by (1)____ In (iI)___ language.

Options:

1. = (1) Ibn Batuta (ii) Arabic
2. v (1) Al Biruni (ii) Arabic
3. = (1) Al Biruni (ii) Persian
4. » (1) Ibn Batuta (ii) Persian

Question Number : 63 Question Id : 54592723293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

() ganr fordy arir frare-3or-fgeg (i) 9T & &I



Options:

1. = (i) gooT ST (i) 3R
2. v (i) 37w (ii) 3RS
3. = (i) 37eF felT (i) wrRET
4. % (i) FooT ST (ii) BRAT

Question Number : 64 Question Id : 54592723294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Abu’l Hasan al Hujwiri’s book in Persian called the (1)__ is an
important book for (i1)__.

Options:

1. = (1) Bahishtl Zewar (i1) Medieval politics
2. = (1) Kashf- ul-Mahjub (ii) Medieval politics
3. = (1) Bahishti Zewar (i1) Sufism

4. v (1) Kashf- ul-Mahjub (i1) Sufism

Question Number : 64 Question Id : 54592723294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3l g 37 g\_rlﬁ'f‘r S BRET # () Torame & S (i)
__ % fov 9gT AEccaqor &

Options:

1. = (i) Sfged-3-91a¥ (i) AETRToleT JoTalllcd
2. % (i) FeH-3ol-AgSlS (i) HEIHTOIST ToTallicl
3. = (i) fged-g-9ia¥ (i) ghrar

4. v (i) FB-3-AgS (i) ghrarg

Question Number : 65 Question Id : 54592723295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The amara-nayaka system was a major political innovation of
the

Options:




1. = Pala Empire

2. » Mauryan Empire

3. v Vijaynagara Empire
4. = Gupta empire

Question Number : 65 Question Id : 54592723295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITHT-ATIF JUTTelT $T Th TS STalTaeR =T 2T

Options:

1. = OTel THTSY

2. = AT JIHEST

3. v BTN HTHTSI

4, = el HIHTS

Question Number : 66 Question Id : 54592723296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Subsidiary Alliance introduced by (1)__ in Awadh In (11)___ .

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. (i) Lord Wellesley (11) 1856
2. (1) Lord Dalhousie (ii) 1856
3. (1) Lord Wellesley (i1) 1805
4. (1) Lord Dalhousie (ii) 1805

Question Number : 66 Question Id : 54592723296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag H () @RI (i) H Fgrge G oe] Hr g o

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. (i) 7S JosTar (i) 1856



2. (i) & ZaElS (i) 1856
3. (i) & Jarstar (i) 1805

4. (i) @& segisr (i) 1805

Question Number : 67 Question Id : 54592723297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was elected by the mutinous 22nd Native Infantry as
their leader during the Revolt of 18577

Options:

1. = Mangal Panday

2. v Maulvi Ahmadullah Shah
3. = Shah Mal

4. » Nana Saheb Peshwa

Question Number : 67 Question Id : 54592723297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1857 & Tagle & clua 2287 afeg seiwdi(@el deor aan) &
faeifegat @ fore 37U siar I form ar?

Options:
1. = HITel 973
2. v Hie@r IEAGECE AME

3. % oME Hel
4. = ST GIigs derdar

Question Number : 68 Question Id : 54592723298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As of August 2019, the Governor of (1) is (ii) :

Options:
1. v (1) Andhra Pradesh and Telangana (1i) Ekkadu Srinivasan
Lakshmi narasimhan



2. » (1) Madhya Pradesh and Chhattisgarh (ii) Jagdish Mukhi
3. = (1) Assam and Mizoram (ii) Kaptan Singh Solanki
4. = (1) Odisha and West Bengal (i1) Tathagata Roy

Question Number : 68 Question Id : 54592723298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIET 2019 dh 3TelsH SifhRT & HaR (i) F TsIaTel
(i) &
Options:

1. v (i) 31er e 3 delensir (i) verehrs Aforaraer o
T e gal

2. % (i) AT 93U 3 D derg (i) Strarer 7@

3. = (i) 319A 3N HAIA (ii) Hearer =g Grerhr

4. = (i) 3T3er 3T gfRgHw Fomer (i) dUET T3

Question Number : 69 Question Id : 54592723299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Admiral Karambir Singh assumed command of the Indian
Navy on (1) as the (1i) Chief of the Naval Staff.

Options:

1. = (1) 15th January 2016, (11) 21st
2. v (1) 31st may 2019, (1i) 24

3. = (1) 3rd October 2017, (i1) 13th
4. = (1) 19th August 2018, (ii) 20th

Question Number : 69 Question Id : 54592723299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

USTATS FAGR 8 o (i) A (i) AT TETH
® UG & ¥ H ARARI AT T FATT HeTelT|

Options:




1. = (i) 15 Stefady 2016, (i) 21 &f
2. v (i) 31 & 2019, (i) 24

3. = (i) 3 3reFresT 2017, (ii) 13 af
4. = (i) 19 30T 2018, (i) 20 &

Question Number : 70 Question Id : 54592723300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the year 2019, the President of India had approved
conferment of 112 Padma Awards comprising of (1) ___
Padma Vibhushan, (ii)  Padma Bhushan and (iii)
Padma Shri Awards.

lp. = {1) 4 (11) 8 (1ii) 100
2. v (1) 4 (11) 14 (1i1) 94
3. = (1) 10 (11) 2 (ii1) 100
4. = {1) 15 (11) 9 (1i1) 88

Question Number : 70 Question Id : 54592723300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ay¥ 2019 &, ART F TegUld o 112 I WERR Felel el Hl

Aot &r o, fomd () o fason, (i) T S[OT
3T (i) TAT QRN A o

1. = (i) 4 (i) 8 (i) 100
2. v (i) 4 (i) 14 (i) 94
3. = (i) 10 (i) 2 (iii) 100
4. = (i) 15 (i) 9 (iii) 88

Question Number : 71 Question Id : 54592723301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What is Rachna Khaira well-known for?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Poetry

2. Journalism

3. Scientific Research
4. Sports Medicine

Question Number : 71 Question Id : 54592723301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT B forg Ow SATaT S1dar 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. sfaar
2. TIEd
3. Fifee
4. ST

Question Number : 72 Question Id : 54592723302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The World Trade Organisation was founded in the year

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.1992
2.1995
3.1996
4. 1998

Question Number : 72 Question Id : 54592723302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Beg =R getese T TATTSAT Py g‘é 2T |

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 1992

2. AR

3. HIET §EEICTE 3Hh wgaerd ThicTerd, leenrid]

4. 9 SEEITIE, Flohic]

Question Number : 73 Question Id : 54592723303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following scientists and their invention is

incorrectly matched?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Alexander Fleming - Penicillin

2. Louis Pasteur - Vaccination
3. Michael Faraday — Electromagnetic induction
4. Otto von Guericke — Electric motor

Question Number : 73 Question Id : 54592723303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e A & ia ar dafas T 3T MTaShR ITeld F9
g Hel ITaT §7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 3TelsoisT FelfHdT - dfafafere
2. 1995
S.awﬁaxaﬂﬁw



4. shraT 3w

Question Number : 74 Question Id : 54592723304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following parts of the Indian Constitution is

related to the Electoral System of the country?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Part XIII
2. Part XIV
3. Part XV

4. Part XVI

Question Number : 74 Question Id : 54592723304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Fiqeme & faafelf@d # @ it @1 #7er 20 Hr JaArar
Ul & Taad &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. &t X

2. FSH URTAT - CIRIRIT]
3. 1996
4. 1998

Question Number : 75 Question Id : 54592723305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did the Indian Government announce the
“abolition” of all Groups of Ministers (GoMs) and Empowered
Groups of Ministers (EGoMs) “for greater accountability and
empowerment™?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 2011
2. 2012
3.2013
4. 2014

Question Number : 75 Question Id : 54592723305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fre a¥ IR @R o |31 ATIAT & THg (S30A) AT
AT & YRR UTed FHGI (3I3TH) & “SeHelel Hr
Yo “31feer Samecal 3 Ferfaaeaior & forw r o?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 2071

2. #AT XIV

3. Ashel WIS - faegd gFehrg WOT

4. 0 ot TR - FAFCF AT

Question Number : 76 Question Id : 54592723306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct statement regarding the duties of the

Indian Constituent Assembly?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. It ratified the India’s membership of the Commonwealth in
May 1949

2. It adopted the national song on January 24, 1947
3. It adopted the national flag on July 22, 1948



4. It adopted the national anthem on January 24, 1947

Question Number : 76 Question Id : 54592723306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TTTT T F Faedl F TOT H Tl FUA el ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 30 A 1949 # ISgASE HT AT FT TSTIAT HT qiee T
2. 2012

3. HTIT XV

4, AT XV|

Question Number : 77 Question Id : 54592723307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Acts is also known as the Act of the

Settlement?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Regulating Act of 1773
2. Amending Act of 1781
3. Charter Act of 1833
4. Charter Act of 1853

Question Number : 77 Question Id : 54592723307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fai@d & & F8 v 3% AcdAc & &7 & #T ATam

ST 87

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 1773 &1 [Afagaa aegs




2. e 24 SIadl, 1947 T TS 3T T TA=T
3. 2013
4, 2014

Question Number : 78 Question Id : 54592723308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Indian athlete Dutee Chand is a/an:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Boxer

2. Wrestler
3. Sprinter
4. Archer

Question Number : 78 Question Id : 54592723308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Telle gl de Ueh gl
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. FFhaTS]
s |

2. 1781 &1 geye AfAfAT#

3. 38l 22 S[ells, 1948 T U edel 3T
4. THA 24 AT, 1947 Y TSI hl FTATIT

Question Number : 79 Question Id : 54592723309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who out of the following is the head coach of the Indian

Women’s Football team?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



1. Maymol Rocky
2. Aditi Chauhan
3. Sasmita Malik
4. Oinam Bembem Devi

Question Number : 79 Question Id : 54592723309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d & @ &l AT Afgem Beaia &A & 7&
ufereTes &7
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

1. HATr Jehr

2. UgoldTel
3. 1833 =7 WO 3TafagA

4. 1853 T AAWITORR JTATIA

Question Number : 80 Question Id : 54592723310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who has the record of making the highest individual score in

an ICC World Cup?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. Chris Gayle

2. Martin Guptill

3. Sachin Tendulkar
4. Saeed Anwar

Question Number : 80 Question Id : 54592723310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IMETET [deT T H TS SToddld ThiT &ellel T Nehig
IETSE R IE: -

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. forg AT
2. 3fefa =gt

3. gTd<h
4. TeTeY
Arithmetic Ability1
Group Number : 5
Group Id: 5459271155
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271155
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 5459271385
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592723311 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

7.5x09x144 =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.48.6
2.91.44
3.97.2
4.94.95

Question Number : 81 Question Id : 54592723311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa T uee H UReaes eg (?) & TUTH 9T FAT HTa]
MW7

7.5 x 09 x 144 =7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 48.6

2. HIfe arfeeer

3. GrEAdaT Afersh
4. 3STH SHASH T

Question Number : 82 Question Id : 54592723312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What should come in place of the question mark (?) in the
following question?

221 x 650 + 442 x 175=7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 236000
2. 228000
3. 216000
4. 221000

Question Number : 82 Question Id : 54592723312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

227 x 650 + 442 x 175=7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 236000
2. 228000

3. el dgereht

4. TEE 3ol

Question Number : 83 Question Id : 54592723313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What approximate value will come in place of the question
mark?

989 65 515
= X — =,

34 869 207

Options:

1. = 870
2. % 770
3.v970
4. = 1070

Question Number : 83 Question Id : 54592723313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tedreh eg (7) & TATA UL TN hiad TT HTel 3T

989 65 515
= X — =,

34 869 207

Options:

1. = &/0
2. = 770
3. v 970
4. = 1070

Question Number : 84 Question Id : 54592723314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

32+6--2--1-="?
6 7 3 2

Options:



Question Number : 84 Question Id : 54592723314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFTe&d e # uesTares Reg (?) & TATT 9T FIT 3T
ATET?

32+6--2--15="2
B i 3 2

Options:
1. ¢ &
7w 621_1
3 = 611_4.
4.« 5

Question Number : 85 Question Id : 54592723315 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

3x[3+{3x{(3+(3x3x3+3)}]="7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.117
2. 98

3.110
4. 108

Question Number : 85 Question Id : 54592723315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

3x[3+{3x(3+(33+3Y =72

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 117
2. 98
3. 110
4. 108

Question Number : 86 Question Id : 54592723316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What should come in place of question mark (?) in the
following questions?

55 percent of 200 + ? = 22 percent of 400 + 6 percent of 450

Options:

1.4
2.% 3
3.v5
4. %6

Question Number : 86 Question Id : 54592723316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeRaT e & wesT ”eg (?) & TATT 9T FAT 37T« ANgU?

55 percent of 200 + 7 = 22 percent of 400 + 6 percent of
450

Options:

1. = 4
2. % 3
3. v 5
4. = 6

Question Number : 87 Question Id : 54592723317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L.CM of (480, 360, 320) is:

Options:

1. = 1440
2. v 2880
3. % 2160



4. % 1800

Question Number : 87 Question Id : 54592723317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(480, 360, 320) T oTgdH HATIIIF &:

Options:

1. = 1440
2. v 2880
3. = 2160
4. = 1800

Question Number : 88 Question Id : 54592723318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least number which is divisible by 135, 100, 72 and
180.

Options:

1. = 4320
2. % 2880
3. =% 2160
4, v 5400

Question Number : 88 Question Id : 54592723318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o8 BT T&IAT AT KL =F 135, 100, 72 30 180 @ Renfaia
arl

Options:

1. = 4320
2. = 2880
3. = 2160
4. v 5400




Question Number : 89 Question Id : 54592723319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a five digit number 2785x is divisible by 11, then the value
of X 1s?

Options:

1. =1
2. v 2
3.3
4 %5

Question Number : 89 Question Id : 54592723319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife aTer 37ept kT IEAT 2785%, 11 & O9reT &, a x T AT &

Options:

1. % 1
2. v 2
3. % 3
4. % 5

Question Number : 90 Question Id : 54592723320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the least square number which is divisible by 6, 8 and
157

Options:

1. = 2500
2. v 3600
3. = 4900
4. = 4500

Question Number : 90 Question Id : 54592723320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T BT quT g9 J&AT AT HL S 6, 8 3N 15 8 fawreT &

Options:

1. = 2500
2. v 3600
3. = 4900
4. = 4500

Question Number : 91 Question Id : 54592723321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average marks scored by the all the students of class VI in
their exam is 74.4. The average marks scored by the boys and
the girls in the class are 76 and 72 respectively. If there are
elght less girls than boys in the class, then what is the number
of boys in the class?

Options:

1. = 16
2.v 24
3. % 20
4 % 22

Question Number : 91 Question Id : 54592723321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hETT BT & THT BET gy TIET H 3Ed 316 74.4 &1 e
H osant 3 arsferal & 3iga 37 A 76 3 72 &1 afe

RETT H AFh! T Jolell H 3 FA sThaAT &, O F&T A oI5
1 g&IT FAT &7

Options:

1. = 16
2. v 24




3. = 20
4. = 22

Question Number : 92 Question Id : 54592723322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the difference between average of prime numbers
between 1 to 20 and average of prim numbers between 40 to
60.

Options:

1. = 36.745
2. % 37.385
3. v 38.975
4. % 39125

Question Number : 92 Question Id : 54592723322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 3@ 20 o ST AT GEITT & 3aa 3T 40 @ 60 & 9=
AT TEATAHT & 3Oa T 3aT F4T &7

Options:

1. = 36.745
2. % 37.385
3. v 38.975
4. = 39.125

Question Number : 93 Question Id : 54592723323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The amount of discount offered on a product is four-fifth of
the amount of profit. If the product is marked up by 60
percent above the cost price, then what was the percentage of
discount offered on the product?

Options:



1. = 20 percent
2. v 16.66 percent
3. % 33.33 percent
4. = 25 percent

Question Number : 93 Question Id : 54592723323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fopelT 3cdTg WX &1 ST arelr P hr TN @ hT TR FT (4/5)
th feear &1 IfE 3came F aer g 7eg & 60 dfded F9
R fhar Srar &, a6 3¢9 W B T qiaerd a7 o417

Options:

1. = 20 wfderd
2. v 16.66 wfcerd
3. = 33. 33 icerd
4. = 25 gicrerd

Question Number : 94 Question Id : 54592723324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper has 25 cartons of sweet boxes with him and
each carton has 60 sweet boxes and each box has 15 sweets. If
10 percent of sweets present in 18 percent of boxes in 20
percent of the cartons are barfl. How many barfies
shopkeeper has?

Options:

1. = 54
2. % 92
3.»81
4. % 104

Question Number : 94 Question Id : 54592723324 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ush ghleer & I TASTS & f3sal & 25 *réet gld § 3N
Tl Ficad H 60 Ao ddd 8ld & 3T Tcds diea & 15
fAoEar gidr &1 afg 20 ufaera sca # 18 ufdera seg &
Aisig 10 wiaerd [Aes shf &1 gheer & 9 fohdell sthf &7

Options:

1. = 54
2. % 92
3. v 81
4. = 104

Question Number : 95 Question Id : 54592723325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vinita spent 40 percent of his monthly budget to purchase her
dress. Of the remaining she gave 12.5 percent to her sister and
81/3 percent to his brother and saved the remaining amount.
If saving of Vinita is Rs.7600, then find difference between the
amount given to her brother and her sister.

Options:

1. » Rs.340
2. % RS.375
3. v Rs.400
4, » RS.580

Question Number : 95 Question Id : 54592723325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TsiraT o 379elT aremed Elgs & oIT 39a Aald & Sl & 40
gyfderd T fohdT| A9 # 8 38a 3(Yall d@« Rl 12.5 ufaerd
3T 319 #1E r 81/3 ufaera fear 3w oy gfer &1 s=r ferm)
IR AT 1 s=d %.7,600 &, dr 38% A5 A’ 39T T84
I & 7% iy & ST 3T AT FL

Options:

1. = % 340
2. = & 375
3. v % 400
4. = %, 580

Question Number : 96 Question Id : 54592723326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the square of numerator is decreased by 20 percent
and the square of denominator is increased by 25 percent, the
resultant fraction is 9/16 . What percent of denominator is
numerator?

Options:

1. v 93.75 percent
2. » 83.33 percent
3. = 87.5 percent

4. % 91.25 percent

Question Number : 96 Question Id : 54592723326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS 39T T 9T 20 widerd ¥¢ Sar & 3T & 1 ger 25
gfaerd ¢ S1dT &, INOTAT e 9/16 gar &1 37T, &L T
ESGIRIGHGR Y

Options:




1. v 93.75 ufaera
2. = 83.33 ufaera
3. = 87.5 ufdera
4. = 91.25 gfdera

Question Number : 97 Question Id : 54592723327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The profit earned by Vikas on selling a machine at 16.66
percent profit i1s Rs.245. Find the profit percent if he sells five
such machines at a total profit of Rs.1653.75.

Options:

1. v 22.5 percent
2. % 24.8 percent
3. %= 18.5 percent
4. = 21 percent

Question Number : 97 Question Id : 54592723327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faerTd Z@RT 16.66 Yiderd omH ¥ #eilel el U HANT ]
ATH 5.245 & T Widerd 7Td vy IS gg 9T OdT #Aefa
ST & 3T Fol omeT $.1653.75 &

Options:

1. v 22.5 gfdera
2. % 24.8 gfderd
3. * 18.5 wufderd
4. % 21 wfrerd

Question Number : 98 Question Id : 54592723328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




A shopkeeper sold two fans F1 and F2 at 18 percent profit and
16 percent profit respectively. If the total profit is Rs.270 and
cost price F1 is Rs.200 less than cost price of F2. What is the
cost price of F1?

Options:

1. = Rs.900
2. » Rs.600
3. = Rs.800
4. v Rs.700

Question Number : 98 Question Id : 54592723328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk gehTelel o &Y 9% F1 3 F2 1 A 18 ufderd o
3R 16 gfcderd oy 9 a7l Al Fel e Rs.270 § 3 F1
ST e Hed, F2 HT oerd #eg € £.200 A g1 F1 &Hr
R Hed 7 §7

Options:

1. = 800 %.
2. = 600 .
3. = 800 %.
4. v 700 .

Question Number : 99 Question Id : 54592723329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Riya marked up the price of a product by 35 percent and then
offers a discount of 20 percent to Diya. Diya sells it for Rs.55
more than the price at which she purchased it. If Diya’s
selling price is 30 percent more than the original cost price of
the article, then Diya’s profit percentage is:

Options:



1. v 20.37 percent
2. » 17.85 percent
3. % 19.25 percent
4. = 22.15 percent

Question Number : 99 Question Id : 54592723329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T &7 v 3cUre T FrAET F 35 ulfaerd de [igead foar
AT fRe dram 1 20 wfcerd $r g vere #n drRr & g8 o
HAT I T 9T, 388 55 9 SIIET A 39 Swdr &1 It
& &1 okt T RIHT 3cuTg T Hel drerd Hed 8 30 ufderd
Ffw &, ar SR T o ufdera &7

Options:

1. v 20.37 ufaera
2. % 17.85 ufdera
3. = 19.25 wfcerd
4. = 22.15 gfderd

Question Number : 100 Question Id : 54592723330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of the ages of Mrs. Gupta and Mr. Gupta when their
first child was born was 6 : 7. Today, when their second child
was born, the ratio their ages is 8 : 9. If the difference in the
ages of the two children is 10 years, then what will be the age
of Mr. Gupta two years from now?

Options:

1. = 45 yrs
2. v 47 yrs
3. % 38 yrs



4. % 40 yrs

Question Number : 100 Question Id : 54592723330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT IedT 3T AT ICAT HT Y FT eI ST 3ok gl

ST T SIoA B3 o7 6 @ 7 B3 1. 37T, 19 3oleh GEY &
HT SAeH F, SeTh] HurT 8 : 9 &1 Il AT el kT 37 A
10 &Tel T 3R &, ol 31 & a7 FTel 1 A7 T kT 37 F247

gret?

Options:

1. = 45 @Y
2. v 47 @Y
3. = 38 Ay
4, = 40 9¥

Arithmetic Ability2
Group Number : 6
Group Id: 5459271156
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271156
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459271386
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592723331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two drinks, A and B, contains vitamin € and vitamin D in the
ratio 5: 3 and 8 : 11 respectively. The drinks A and B are
mixed, which of the following cannot be the ratio of vitamin C
and vitamin D in the mixture thus formed?

Options:

1. 3:4
2. 4:5
3.v2:1
4 .%5:6

Question Number : 101 Question Id : 54592723331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 9, A 3 B 7 waAer: 5: 3 3T 8 11 F squrad A
faeraer @ 3 faeraer S gar &1 99 A 3iT B &1 faemr
s &, farafaf@a & & fsor & wia faafas C sk
faerf@ar D 7 3equrd 1&l & Hehl &7

Options:

1.« 3: 4
2. = 4:5
3. v 2 :1
4. = 5:6

Question Number : 102 Question Id : 54592723332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



P, 4. I, s and t are in continue proportion. The value of r is 80
and value of t is 1280. Find the sum of p, g and s.

Options:

1. = 365
2. % 315
3. v 345
4. = 375

Question Number : 102 Question 1d : 54592723332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P, d, 1, s 3T t T 31eqaTd & &l r F7 AT 80 & 3N t I
AT 1280 &1 p, q 3T s &7 IHET AT HITAT|

Options:

1. = 365
2. = 315
3. v 345
4. = 375

Question Number : 103 Question Id : 54592723333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money Rs.16000 lent at rate of 15 percent per
annum compounded annually for 3 years. At the end of every
year, income tax of 10 percent is paid on compound interest
earned. What is the amount received after three years
(approximately)?

Options:

1. v Rs.23394
2. » Rs.24586
3. * Rs.32415
4. » Rs.19950



Question Number : 103 Question 1d : 54592723333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 rel e 15 gicerd uid a¥ Ishglg sTTel (ATTNe aT0T) &
aTer %.16000 FT T IUR & ST § & FTel o 37T H, 3o

SITeT W 10 UTAerd T 3R T8I ST g1 dilel |Tel (o9retan)
& dIE UTed e a7 g7

Options:

1. v . 23394
2. = 5.24586
3. » %.32415
4. = %.19950

Question Number : 104 Question Id : 54592723334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the simple interest and compound
interest accrued in two years on a certain sum at a certain
rate of interest is Rs.320. if the simple interest for second year
1s Rs.2000, find the sum.

Options:

1. » Rs.14000
2. » Rs.10400
3. = Rs.16500
4. v Rs.12500

Question Number : 104 Question Id : 54592723334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SATST =hl Ueh [oIT9ad & 9T Ueh fotedd T 9T ar 91 H
3ol FTUROT ATl 3 Thgig sITel & S T 3 £.320 &
I feadg ay¥ 1 AT9ROT saTeT %.2000 &, dr Ufer ved i)

Options:




1. = % 14000
2. = %.10400
3. = %.16500
4. v %.12500

Question Number : 105 Question Id : 54592723335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aman borrowed an amount of Rs. 18,000 at 20 percent p.a.
compounded half yearly. After four months he borrowed Rs.
15,000 at 12 percent p.a. compounded for every four months.
Find the total interest paid by him at the end of the year.

Options:

1. v Rs.5004
2. »= Rs.4744
3. = Rs.5224
4. = Rs.4964

Question Number : 105 Question Id : 54592723335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T o %.18,000 1 Tfer 20 wfderd uid a¥ Ierglg sAT
(37T I0TAT) W 3YN ol IR Héla o §1¢ 38« 5.15,000

1 12 widerd 9fd a¥ Ihgie AT (IR AQlel 076l T YR
ol ¥ & 37 # 38k @R QU a0 ol SATST T IaT M0

Options:

1. ¢ % 5004
2. = 5. 4744
3. = %, 5224
4. = . 4964



Question Number : 106 Question Id : 54592723336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two persons A and B started from two different places
towards each other. If the ratio of their speeds be 5.7, then
what is the ratio of distance covered by A and B respectively
till the point of meeting?

Options:

1. = 1:2
2.% 34
3. v 57
4. % 5:3

Question Number : 106 Question Id : 54592723336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar =gfd A 31T B & fleel @l & Ush gE¥ T 3N el
TRF I 81 FTE JeTerT aTfcrdl i 37e[draT 5: 7 § T A @ B
SINITAE & T d Ygaal H T HT 5 G T HAT:

3103‘-1|d | é|3|| ?

Options:

1. = 1:2
2. = 34
3. v 57
4. = 5:3

Question Number : 107 Question Id : 54592723337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin travels a fixed distance by bike at the average speed of
20 kmph and at average speed of 50 kmph to return to the
initial position. Find average speed during the whole trip.

Options:

1. = 35 kmph



3
28= kmph
3 » S

4. = 28 kmph

Question Number : 107 Question Id : 54592723337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aiel s18eh darT U ffead gft 20 kmph #r 3irad aifd &
AT FIAT & TUT Gol: YRTAF AT W ar9d 3= # 50 kmph
T AT T § IHT HTar &1 [ AT & SR i it
AT FHITSTT

Options:

1. % 35 TordAT 9fd ger

223 fpeft ufa ger

2. %

4 :
3 v ZEE'I%H:‘T‘H%EIE[

4. = 28 TorAT ufa @eT

Question Number : 108 Question Id : 54592723338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train passes a station platform in 18 s and a man standing
on the platform in 10 s. If the speed of the train is 108 km/h,
find the length of the platform.

Options:

1. = 225 m
2.% 235m



3. % 230m
4. v 240 m

Question Number : 108 Question Id : 54592723338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toh YoI9TET T TC2Tal o TolcWhld i 18 dhg H YN Hidl &
JAT Tle®wIA I T3 Uk HEAT I 108h8 H U FHIdr ool
It YSemsr S afa 108 fRAvEer &, ar Tolehid T dus Ad
I |

Options:

1. = 225 HIX
2. = 235 HIT
3. = 230 HIeT
4. v 240 AT

Question Number : 109 Question Id : 54592723339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A and B can complete a work in 4 and 5 days respectively.
Then the ratio of efficiency of A to B 1s:

Options:

1. = 2:3
2.v 54
3. % 56
4. % 1:3

Question Number : 109 Question Id : 54592723339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A 3R B FAT: 4 3R 5 AT # Tk 1A T QW = Thd
g A @ B I RRIGRET FT FHAM: el ¢

Options:




1. = 2:3
2. v 54
3. = 56
4. = 1.3

Question Number : 110 Question Id : 54592723340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two persons A and B together can complete a piece of work in
20 days. If A work at twice his efficiency and B at half of his
efficiency, then the work will be completed in 16 days. Then
number of days in which A alone can complete the work is:

Options:

1. v 40 days
2. = 24 days
3. » 30 days
4. = 36 days

Question Number : 110 Question Id : 54592723340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar =gfed A 3R B fAeret fordT i &t 20 et # qof &
Tehed &1 Al A T AT & 3R B 3Tl &TAAT § F1H H,
dr T 16 el # T 8T Vel A 37ehel 38T 1 1 fohctal
el # qoT T Fehel &7

Options:

1. v 40 &
2. % 24 f&oT
3. = 30 T
4, % 36 Tt




Question Number : 111 Question Id : 54592723341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Is thrice as good as workman as B. Together, they finish the
work in 15 days. In how many days can it be done by each
separately?

Options:

1. = A =19 days, B = 38 days
2. % A =15 days, B = 30 days
3.v A=20days, B =60 days
4. = A =14 days, B = 28 days

Question Number : 111 Question 1d : 54592723341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A, B @ A 9T FTH Fa H 3T § d Uk a1 15 g A
FTH I TATCT FT T &1 ITET-37019T 57 FRT I GATCT Fa
H Tohddr AT oelam:

Options:
1.« A=19 f&eT , B = 38 f&aT

2. = A =151, B = 30 f&a
3.vA =20, B =60 fea
4. = A = 14 %7, B = 28 e

Question Number : 112 Question Id : 54592723342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many tiles, each 2 decimeter square will be required to
cover the floor of a room 6 m long and 4 m broad?

Options:

1. = 500
2. % 560
3. % 540




4. ¢ 600

Question Number : 112 Question Id : 54592723342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2 3T AT ST qTell TANFR 5o SR RAT 6 AT aes qur
4 AT I8 HeT FI Tl H Tohcdeil TINRR Coed hl TTIhT

grai?

Options:

1. = 500
2. = 560
3. = 540
4. v 600

Question Number : 113 Question Id : 54592723343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the radius of a cylinder is decreased 20 percent and height
Is increased 56.25 percent. What will change in the volume of
cylinder.

Options:

1. = 8 percent Increase

2. v Nelther increases nor decreases
3. = 12 percent Decrease

4. = 12 percent Increase

Question Number : 113 Question 1d : 54592723343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afe v dae FT Fear 20 ufaerd &8 & & I 3’ =8
56.25 WTaerd &&T & S dF 50 YN Sod & Aade # fohdal
gfcTercT Rl AT RAT?

Options:




1. = 8 gfderd #r &
2. v o gig & FAT

3. » 12 wlderd =1 HAT
4. = 12 yfaerd &1 gfa

Question Number : 114 Question 1d : 54592723344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the volume of a cone whose base radius is 6 cm and
height is 3.5 cm.

Options:

1. = 96 cube cm

2. v 132 cube cm
3. 114 cube cm
4, = 128 cube cm

Question Number : 114 Question Id : 54592723344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush Qigh T =TT ATT L oigh AT hr BT 6 SAT &
T F=rE 3.5 9AT §

Options:

1. % 96 =T TAT
2. v 132 ue WA
3. = 114 = I#AT
4. = 128 e THY

Question Number : 115 Question Id : 54592723345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the questions that
follow:

Employee Working Various Departments of Hoola Boola
Moola, Inc.

Years . Depa_m]?tent (Number of Employees)
Production | Marketing | Corporate | Accounts | Research

2001 150 25 50 45 5
2002 225 40 45 62 70
2003 450 65 30 90 13
2004 470 13 32 105 70
2005 500 &0 35 132 74
2006 505 75 36 150 75

In how many years was the number of employees working in
the production department more than 50 percent of the total
employees?

Options:

1. % 2
2.% 3
3.5 4
4.v5

Question Number : 115 Question 1d : 54592723345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tt aTfelerT T 318 & 3K edfai@d ueal &
3cal ¢
gell T Heal, =h & [Affed [THREN # FRRT FaAORT

- faemer (FARAT i e
3cuigel | fauue | &iRe orar el

2001 150 25 50 45 75
2002 225 40 45 62 70
2003 450 65 30 90 73
2004 470 73 32 105 70
2005 500 80 35 132 74
2006 505 75 36 130 75

forder aN! & 3cUTEel TAHTET & F1H Flel dTel FHATAT T
& Fo FAATRAT & 50 ufaerd & 3T o417

Options:

1. = 2
2. % 3
3. = 4
4. v 5

Question Number : 116 Question Id : 54592723346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The circle-graph given here shows the spendings of a country
on various sports during a particular year. Study the graph
carefully and answer the questions given below it.

Pie-Chart

If the total amount spent on sports during the year was Rs.2
crore, the amount spent on Cricket and Hockey together was:

Options:

1. = Rs.800000
2. v Rs.8000000
3. * Rs.12000000
4. » Rs.16000000

Question Number : 116 Question Id : 54592723346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁﬂg&ﬁ@ﬁ-ﬁﬁ?ﬁf&ﬂ#ﬁﬁ%&hﬁﬁ%ﬁﬁr
Tl T T T c@2ITdT § | ITH hl €T & U JdoT < gu
AT YT T 3cal 2

g 9

aﬁ?aﬁﬁwﬁ@ﬁqu2maﬁ§@ﬁ,ﬁ%ﬁf
AT &lepT W uch'\EIT&Ta‘z‘r§Ef9-‘r:

Options:

1. = &, 800000

2. v & 8000000
3. = & 12000000
4. = & 16000000

Question Number : 117 Question Id : 54592723347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: The table given below shows the number of
temples which are under the protection of the Archaeological
survey of India (ASI) in five different states as per cent of total
temples in India under the protection of ASI and number of
such temples in the capital city of these five states. Total
temples in India which are under protection of ASI = 1000

States Percent of Temples | Number of temples in capital city
Karnataka 24% 64
Madhya Pradesh 9.6% 24
Tamil Nadu 12% 32
Uttar Pradesh 13.2% 16
Maharashtra 9% 18

What is the total number of temples which are under the
protection of the ASI in all the five
states together?

Options:

1. = 456
2. % 567
3. v 678
4. = 789

Question Number : 117 Question Id : 54592723347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forder: i & 1 aIforesT & UTT 3TI9T-3709T oA H ARG
qUcdcd FAETOT (ASI) k1 FI&T F Al Al FT T&AT Hl
AS| T T & AT AT A Fof AT & gfaerd & w9 &
g a=m & 3R s 9 TsaT F TSR 98T 7 00 At
hT HEAT ! 2T IRT B

ASI| T T & el AR # Fel AT = 1000.

T AT o1 ufderg | TareneT eg 7 AT &1 ger
FTF 24% 64
HET Ucal 9.6% 24
e a= 12% 32
I - 13.2% 16
HERTSE 9% 18

qell aTe AT A FYFA AN G AS| T GIET AT Al
T Fol TEAT FoheTell &7

Options:

1. = 456
2. = 567
3. v 678
4. = /89

Question Number : 118 Question Id : 54592723348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following bar chart gives the number of cellular phones
sold in the year 1997 to 2002. Study the graph and answer the
questions that follow:

Sale of Callular Phonas
0000 -

40000

48000
40000
40000
30000

30000 55 -
zﬂ{m _____ . - 1m SR
10000 - - I

0 - ’ 8 . : . 5

1397 19938 1939 2000 2001 2002

0000

The two years between which the rate of change of cellular
phones is minimum are

Options:

1. = 1997 and 1998
2. *» 1999 and 2000
3. v 1997 and 1998, 1999 and 2000
4. = 2001 and 2002

Question Number : 118 Question Id : 54592723348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafafaa s =rc a¥ 1997 & 2002 T« S 1T He[e Wiel
FT TEAT S2ATAT &1 ITTH T eI HhL T AFafeliEa uear
% 3cal o

AT B A Ty
60000 -
50000 22000
40000 40000
40000 i - : —
30000
D1 75000
20000 18000
10000 + , - - : : I - -
0 + T T T T — q
1997 1958 1999 2000 2001 2002

ar gy % ST Helo’ Wlel & IR hI & agAdH §

Options:

1. % 1997 3iT 1998
2. = 1999 3T 2000
3. v 1997 3iIT 1998, 1999 3T 2000
4. = 2001 3T 2002

Question Number : 119 Question Id : 54592723349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Consider the following graph and answer the questions based
on it.

Consumption
35
S| E3 |

25 7 5
21

15

{In 000 tonnes)
&
=y

10 b L)

2000 2001 2002 2003 2004 2005

—#—Metal =l=Plastic

Fig. Consumption of metals versus plastics in the given years
of Car manufacturing (in thousand tonnes)

The total consumption of plastic and metal over the period
will give a ratio closest to:

Options:

1.=4:3
2.v5:4
3.56:5
4. %74

Question Number : 119 Question Id : 54592723349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farraEag Ime W B & 3T weal & 379~ W 3ca] &

T q9d
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Options:

1.« 4: 3
2.v5: 4
3. » 6 :5
4. = 7 : 4

Question Number : 120 Question Id : 54592723350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following graph carefully and answer the questions
given below it.

Units of Good Manufactured and sold by Companies in a year

L
Ln

L
=

e
Ln

Units of Goods in bkhs
a8
I I

=
o]
1

P a R 5

B Manufactured M Sold

What is the respective ratio of the units of goods sold by
companies P and Q together to the units of goods sold by
companies R and S together?

Options:

1. = 15:17
2. % 1718
3.+17:19
4. % 19:20

Question Number : 120 Question Id : 54592723350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



folFeT I T CATTTdh AT HIToC IR TG0 AT Feat
3cc CIfeIv|

gt af & vF S0 @R Bl e 9 oueA i B i dem

35

HosiT P 3T Q SR UF AT S T TEIIHT HT Fel T
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Options:
1. = 15:17
2. = 17118
3. v 1718
4, = 19:20
General English1
Group Number : 7
Group Id: 5459271157
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271157

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271387
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592723351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

A dropping catch is often the difference between lifting the
World Cup and going home empty handed.

Options:

1. v A dropping catch

2. = the difference between

3. # lifting the World Cup

4. = and going home empty handed.

Question Number : 121 Question Id : 54592723351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

A dropping catch s often the difference between lifting the
World Cup and going home empty handed.

Options:

1. v A dropping catch
2. % the difference between

3. = lifting the World Cup
4. = and going home empty handed.

Question Number : 122 Question Id : 54592723352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

We have seen fireflies all our life but it has become a tourist
attraction only in the past 10 years.

Options:

1. = We have seen fireflies
2. v all our life

3. = it has become

4. % g tourist attraction

Question Number : 122 Question Id : 54592723352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

We have seen fireflies all our life but it has become a

tourist attraction only in the past 10 years.

Options:

1. = We have seen fireflies
2. v all our life
3. % It has become

4. = a tourist attraction

Question Number : 123 Question Id : 54592723353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

Scientists have for the first time show that some wild corals
are feeding on tiny particles of plastic trash.

Options:

1. » Scientists have

2. » for the first time
3. v show that some

4, = particles of plastic

Question Number : 123 Question Id : 54592723353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

Scientists have for the first time show that some wild corals

are feeding on tiny particles of plastic trash.

Options:

1. = Sclentists have

2. = for the first time
3. v show that some
4,

= particles of plastic

Question Number : 124 Question 1d : 54592723354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

That grizzly bears eat worms and grasses may surprise
people, but the bears actually eat a huge range in things.

Options:

1. = That grizzly bears eat
2. = worms and grasses

3. = but the bears actually
4. v a huge range in things

Question Number : 124 Question 1d : 54592723354 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

That grizzly bears eat worms and grasses may surprise

people, but the bears actually eat a huge range in things.

Options:

1. = That grizzly bears eat
2. » worms and grasses

3. ® but the bears actually
4. v a huge range in things

Question Number : 125 Question Id : 54592723355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the segment in the sentence which contains the
grammatical error from the given options.

After serving in the Vietnam War, author Paul Peacock spend
years alone in the wilderness observing grizzly bears.

Options:

1. = After serving in

2. = the Vietnam War

3. v spend years alone

4. = observing grizzly bears.

Question Number : 125 Question Id : 54592723355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



|dentify the segment in the sentence which contains the

grammatical error from the given options.

After serving In the Vietnam War, author Paul Peacock

spend years alone In the wilderness observing grizzly bears.

Options:

1. = After serving In
2. » the Vietnam War
3. v spend years alone

4, = observing grizzly bears.

Question Number : 126 Question 1d : 54592723356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Many organisms, from fish to birds, have being find to eat
small bits of plastic.

Options:

1. ¥ have been found to

2. » has been found to

3. = had been find to

4. = No substitution required

Question Number : 126 Question Id : 54592723356 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required.

Many organisms, from fish to birds, have being find to eat

small bits of plastic.

Options:

1. v have been found to

2. * has been found to
3. ® had been find to

4. = No substitution required

Question Number : 127 Question Id : 54592723357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

She was excited in studying corals and, as she puts it, having a
conversation with nature.

Options:

1. * was excited at
2. v was excited about
3. » was excited on



4. = No substitution required

Question Number : 127 Question Id : 54592723357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required.

She was excited in studying corals and, as she puts It,

having a conversation with nature.

Options:

1. = was excited at
2. v was excited about
3. ® was excited on

4. = No substitution required

Question Number : 128 Question Id : 54592723358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Like other plastics, micro beads will survive in the
environment and posing a threat to corals for centuries.

Options:



1. = posed a threat to

2. = pose a threat in

3. v pose a threat to

4. = No substitution required

Question Number : 128 Question Id : 54592723358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Like other plastics, micro beads will survive in the

environment and posing a threat to corals for centuries.

Options:

1. = posed a threat to
2. = pose a threat In
3. v pose a threat to

4, = No substitution required

Question Number : 129 Question 1d : 54592723359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

Dental experts started framing the question of dental care as
a social, moral, and even patriotic issue.

Options:

1. = Socially, morally and even patriotically
2. = Soclal, moral and also a patriotic

3. = Soclal, moral or patriotic

4. v No substitution required

Question Number : 129 Question Id : 54592723359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

Dental experts started framing the question of dental care

as a soclal, moral, and even patriotic Issue.

Options:

1. = Socially, morally and even patriotically
2. = Social, moral and also a patriotic

3. = Social, moral or patriotic
4

. v No substitution required



Question Number : 130 Question Id : 54592723360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required.

As demand for toothbrushes rose, production followed, aided
of the development of exciting new materials called plastics.

Options:

1. v aided by

2. » aided with

3. % alded In

4. = No substitutionrequired

Question Number : 130 Question Id : 54592723360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required.

As demand for toothbrushes rose, production followed, aided

of the development of exciting new materials called plastics.

Options:

1. v aided by
2. % aided with



3. ®= aided In
4. = No substitutionrequired

Question Number : 131 Question Id : 54592723361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

As far as we know, blue feathers in birds have been
uncommon through time.

Options:

1. v fairly

2. = hardly
3. = rarely
4. = barely

Question Number : 131 Question Id : 54592723361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

As far as we know, blue feathers In birds have been

uncommon through time.

Options:

1. v fairly
2. % hardly

3. # rarely



4. = barely

Question Number : 132 Question Id : 54592723362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Nothing in the wild goes to waste—not a footprint.

Options:

1. = atall
2. v even
3. = only
4. = apart

Question Number : 132 Question 1d : 54592723362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Nothing In the wild goes to waste—not a footprint.

Options:

1. = at all
2. v even
3. = only
4. = apart

Question Number : 133 Question Id : 54592723363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to {ill in the blank.

Studies have shown that in areas where elephants change the
ecosystem, species biodiversity Is

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. great

2. the greatest
3. greater

4. the great

Question Number : 133 Question Id : 54592723363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Studies have shown that in areas where elephants change

the ecosystem, species biodiversity Is

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. great
2. the greatest
3. greater

4. the great



Question Number : 134 Question Id : 54592723364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Many animals provide the essential service of creating habitat
and housing for other species that might not be able to do it
for

Options:

1. = itself

2. » oneself

3. = selves

4. v themselves

Question Number : 134 Question Id : 54592723364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Many animals provide the essential service of creating
habitat and housing for other species that might not be able

to do it for

Options:

1. = itself
2. ® oneself

3. % selves



4. v themselves

Question Number : 135 Question Id : 54592723365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Frog juice is a traditional preparation, raw, skinned
frogs blended with ingredients such as maca root and honey.

Options:

1. v made of
2. » made In
3. » made up
4. » made with

Question Number : 135 Question Id : 54592723365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Frog juice Is a traditional preparation, raw,

skinned frogs blended with ingredients such as maca root

and honey.

Options:

1. v made of



2. * made In
3. = made up

4. » made with

Question Number : 136 Question Id : 54592723366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Glant squids have eyes of any animal that we know—
and they're extremely sensitive.

Options:

1. = bigger

2. v the biggest
3. # the bigger
4. = big

Question Number : 136 Question Id : 54592723366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Giant squids have eyes of any animal that we

know—and they're extremely sensitive.

Options:

1. = bigger
2. v the biggest



3. # the bigger
4. = big

Question Number : 137 Question Id : 54592723367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

When she looked closer, she could see that the heads and jaws
of this population of fish were than normal.

Options:

1. = big

2. * more bigger
3. v much bigger
4. = most bigger

Question Number : 137 Question 1d : 54592723367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

When she looked closer, she could see that the heads and

Jaws of this population of fish were than normal.

Options:

1. = big
2. * more bigger

3. ¥ much bigger



4. = most bigger

Question Number : 138 Question Id : 54592723368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Most amphibians are biphasic, meaning they spend their
early weeks of life in the water and their adult life

Options:

1. = at the land

2. » 1n the land

3. = for the land
4. v on land

Question Number : 138 Question Id : 54592723368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Most amphibians are biphasic, meaning they spend their

early weeks of life in the water and their adult life

Options:

1. = at the land
2. = In the land
3. = for the land

4. v on land



Question Number : 139 Question 1d : 54592723369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: She was the 101st grizzly to get a GPS collar as part of a
National Park Service study—hence her name.

B: Sow 101, a grizzly bear, has had a long and productive life.
C: In her first 20 years, she ranged between the National Park
and the wild lands outside raising somewhere between three
and four sets of cubs.

D: But then, in the early ‘90s, she began eating garbage and
pet food that had been carelessly left out by residents in a
suburb north of town.

Options:

1. v BCAD
2. » BCDA
3. = CBDA
4. = CBAD

Question Number : 139 Question Id : 54592723369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: She was the 101st grizzly to get a GPS collar as part of
a National Park Service study—hence her name.

B: Sow 101, a grizzly bear, has had a long and productive
life.

C: In her first 20 years, she ranged between the National
Park and the wild lands outside raising somewhere between
three and four sets of cubs.

D: But then, in the early "90s, she began eating garbage
and pet food that had been carelessly left out by residents

In a suburb north of town.

Options:

1. v BCAD
2. = BCDA
3. = CBDA
4. = CBAD

Question Number : 140 Question Id : 54592723370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has four parts, rearrange the given parts so as to
form a meaningful sentence.

A: lions, hyenas, and painted dogs

B: When a cape buffalo

C: will soon arrive to fight over the carcass.
D: goes down in South Africa,

Options:

1. « BDCA
2. v BDAC
3. = ACBD
4. = ACDB

Question Number : 140 Question Id : 54592723370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has four parts, rearrange the given parts so as

to form a meaningful sentence.

A: lions, hyenas, and painted dogs
B: When a cape buffalo
C: will soon arrive to fight over the carcass.

[D: goes down In South Africa,

Options:

1. = BDCA
2. v BDAC
3. = ACBD
4. = ACDB
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Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
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Question Number : 141 Question Id : 54592723371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences in their correct order to
form a meaningful paragraph.

A: A polar researcher turned National Geographic
photographer, Bishop was on the first U.S. expedition to
summit Everest.

B: On the descent they couldn’t find their camp.

C: At 3:30 p.m. on May 22, 1963, he and his climbing partner
reached the top, dropped to the ground, and wept.

D: Bishop stamped his feet to warm them but soon felt sharp
pain, then numbness.

Options:

1. = ACDB
2. = DCBA
3. v ACBD
4. = DCAB

Question Number : 141 Question 1d : 54592723371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the following sentences In their correct order to

form a meaningful paragraph.

A: A polar researcher turned National Geographic
photographer, Bishop was on the first U.5. expedition to
summit Everest.

B: On the descent they couldn’t find their camp.

C: At 3:30 p.m. on May 22, 1963, he and his climbing
partner reached the top, dropped to the ground, and wenpit.
D: Bishop stamped his feet to warm them but soon felt

sharp pain, then numbness.

Options:

1. = ACDB
2. = DCBA
3. v ACBD
4. = DCAB

Question Number : 142 Question Id : 54592723372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Dominance

Options:

1. v Influence
2. = Aggression



3. » Estimation
4. = Comparison

Question Number : 142 Question Id : 54592723372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the synonym of the given word.

Dominance

Options:

1. v Influence
2. » Aggression
3. = Estimation

4. = Comparison

Question Number : 143 Question Id : 54592723373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Synonym of the given word.

Substantial

Options:

1. » Worthless

2. v Considerable
3. = Durable

4. = Profitable

Question Number : 143 Question Id : 54592723373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the Synonym of the given word.

Substantial

Options:

1. = Worthless

2. v Considerable
3. # Durable

4. = Profitable

Question Number : 144 Question Id : 54592723374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Awkward

Options:

1. = Inappropriate
2. = Jealous

3. v Convenient

4. = Embarrassing

Question Number : 144 Question Id : 54592723374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Awkward

Options:



1. = Inappropriate
2. = Jealous

3. v Convenient
4.

* Embarrassing

Question Number : 145 Question Id : 54592723375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

suppress

Options:

1. v Encourage
2. % Arrest

3. » Forfeit

4. = Conquer

Question Number : 145 Question Id : 54592723375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the antonym of the given word.

Suppress

Options:

1. v Encourage
2. % Arrest

3. = Forfelt
4, = Conquer



Question Number : 146 Question 1d : 54592723376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

On a private patch of island we have a large green
safari tent.

We are going to be out there to every vote and prove to
people that we should be in there representing this part of the
country.

Options:

1. = canvas, canvas

2. ¥ canvas, canvass
3. = canvass, canvas
4, = canvass, canvass

Question Number : 146 Question 1d : 54592723376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct pair of homophones to fill in the blanks.

On a private patch of i1sland we have a large green

safarl tent.

We are going to be out there to every vote and

prove to people that we should be in there representing this

part of the country.

Options:

1. = canvas, canvas
2. v ca nvas, canvass
3. * ca nvass, canvas

4, = canvass, canvass

Question Number : 147 Question Id : 54592723377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Interuption
2. * Quantities
3. = Imbalance
4. = Proposition

Question Number : 147 Question Id : 54592723377 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. ¢ Interuption
2. » Quantities
3. = Imbalance
4. = Proposition

Question Number : 148 Question Id : 54592723378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extraordinary
2. v Confidantial
3. = Delegate

4. » Humorist

Question Number : 148 Question 1d : 54592723378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extraordinary
2. v Confidantial



3. # Delegate

4. = Humorist

Question Number : 149 Question Id : 54592723379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. * Embroidery
2. » Confirmation
3. v Interferance
4. = Tournament

Question Number : 149 Question 1d : 54592723379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Embroidery
2. ® Confirmation
3. v Interferance

4. = Tournament

Question Number : 150 Question Id : 54592723380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Hit the sack

Options:

1. v To go to sleep

2. = A difficult task
3. » Harm physically
4. = To fail a test

Question Number : 150 Question 1d : 54592723380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Hit the sack

Options:

1. v To go to sleep
2. = A difficult task
3. » Harm physically

4. = To faill a test

Question Number : 151 Question Id : 54592723381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Give the cold shoulder

Options:

1. * To impress

2. v Intentionally ignore someone
3. = Donate money

4. = To give favors to somebody

Question Number : 151 Question Id : 54592723381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Give the cold shoulder

Options:

1. * To Impress
2. v Intentionally ignore someone
3. = Donate money

4. = To give favors to somebody

Question Number : 152 Question Id : 54592723382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Throw caution to the wind

Options:



1. = The end of something

2. = To be without any money
3. v To take a risk

4. = To disagree

Question Number : 152 Question Id : 54592723382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Throw caution to the wind

Options:

1. = The end of something
2. » To be without any money
3. v To take a risk

4. = To disagree

Question Number : 153 Question Id : 54592723383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
givern.

Friendly and welcoming to visitors or guests.

Options:

1. v Hospitable
2. » Hooligan
3. » Henchman



4. » Honorary

Question Number : 153 Question Id : 54592723383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Friendly and welcoming to visitors or guests.

Options:

1. v Hospitable
2. = Hooligan
3. * Henchman

4, = Honorary

Question Number : 154 Question Id : 54592723384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Famous or well known, typically for some bad quality or deed.

Options:

1. = Nalve

2. v Notorious
3. = Notary

4, = Nausea

Question Number : 154 Question Id : 54592723384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

Famous or well known, typically for some bad quality or
deed.

Options:

1. = Naive
2. v Notorious
3. = Notary

4. = Nausea

Question Number : 155 Question 1d : 54592723385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A young person with exceptional qualities or abilities.

Options:

1. = Prologue
2. » Pedestrian
3. v Prodigy

4. » Pedantic

Question Number : 155 Question Id : 54592723385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the word which means the same as the group of

words given.

A young person with exceptional qualities or abilities.

Options:

1. = Prologue

2. = Pedestrian

3. v Prodigy

4. = Pedantic
Sub-Section Number: 2
Sub-Section Id: 5459271389
Question Shuffling Allowed : Yes

Question Id : 54592723386 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the given passage and answer the questions that follow.

All it took West Bengal Chief Minister Mamata Banerjee to
end the week-long strike by junior doctors in the State was a
meeting with the agitating medicos and a credible assurarnce
that their safety was a priority for her government. The
attack on a junior doctor on June 10 over the death of a
patient had sparked the agitation, which spread to other parts
of the country when it appeared that the State government
was reluctant to negotiate with the striking doctors. Now that
Ms. Banerjee has reached out to young doctors and conceded
that their demands are genuine, the government, in West
Bengal and elsewhere, must focus on addressing the
deficiencies afflicting the health-care system as a whole.
Reprisal attacks on doctors by agitated relatives of patients
who die during treatment are known to happen. Such
violence is invariably the result of systemic problems that
adversely affect optimal attention to patients, such as
infrastructural and manpower constraints. It is apparent that
doctors work in stressful environments, sometimes under
political pressure with regard to admissions. Several States
have enacted laws to protect doctors and other health-care
personnel from violence. Last week, Union Health Minister
Harsh Vardhan wrote to State governments highlighting the
need for stringent action against anyone who assaults doctors.
He asked States that do not have a law to protect doctors
against violence to enact one, and circulated a 2017 draft of a
law that envisaged imprisonment besides recovery of
compensation from perpetrators for loss or damage to

property.

However, is such a law really effective? Ironically, West
Bengal, the epicenter of a strike that involved nearly the
entire medical fraternity across the country, has such a law
too. Like the law in most other States, the West Bengal Act
provides for a three-year prison term and a fine, which could
go up to 350,000, to anyone indulging in viclence against any
“Medicare service person”, which covers doctors, nurses,
medical and nursing students and paramedical staff. The
offence is cognizable and non-bhailable. It also provides for
recovery of compensation for loss. Many other States have
similar laws, with the one in Tamil Nadu providing for a
prison term that could go up to 10 years. It is clear that
having this law did not prevent the incident that sparked the
latest agitation. There are no figures available on how many
times the medical service person protection law has been
invoked. In any case, causing simple or grievous injuries to
anyone is a criminal offence under the Indian Penal Code.
Treating the issue as a law and order problem is just one way.
The real solution may lie in improving health infrastructure,
counselling patients about possible adverse treatment
putcomes, and providing basic security in medical institutions.



Sub questions

Question Number : 156 Question Id : 54592723387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage deals with one of the following issues:

Options:

1. v Violence against doctors

2. = Deficiencies affecting the health care
3. » Medical service person protection law
4. = Basic security in medical institutions.

Question Number : 157 Question Id : 54592723388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author of the passage, what is the cause
behind the violent attacks on doctors?

Options:

1. = Stressful environments

2. v Systematic problems in the infrastructure and manpower
limitations.

3. » Lack of proper treatment and care of the patient
4. = Lack of attention to patients.

Question Number : 158 Question Id : 54592723389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, the real solution to the problem lies
in:

Options:

1. = Improving the health infrastructure
2. = Counselling Patients
3. = Basic security in medical institutions.



4, v All of the above

Question Number : 159 Question Id : 54592723390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author of the passage feel that the law that
prevents violence against doctors is ineffective?

Options:

1. = There is lack of laws to protect doctors against viclence.
2. » Unwillingness of the government machinery and the state.
3. = Lack of support from the medical fraternity.

4. v The incidents of violence against doctors occurred in the
states that already had a law to protect doctors against
violence.

Question Number : 160 Question Id : 54592723391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, what ended the week-long
strike by junior doctors in the state?

Options:

1. = Imprisonment besides recovery of compensation from
perpetrators for loss or damage to property.

2. * The need for stringent action against anyone who assaults
doctors.

3. » An attack on a junior doctor on June 10 over the death of
a patient.

4. v A meeting with the protesting doctors and an assurance
of their safety by the chief minister.



Question Id : 54592723386 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

All it took West Bengal Chief Minister Mamata Banerjee to
end the week-long strike by junior doctors in the State was
a meeting with the agitating medicos and a credible
assurance that their safety was a priority for her
government. The attack on a junior doctor on June 10 over
the death of a patient had sparked the agitation, which
spread to other parts of the country when it appeared that
the State government was reluctant to negotiate with the
striking doctors. Now that Ms. Banerjee has reached out to
young doctors and conceded that their demands are
genuine, the government, in West Bengal and elsewhere,
must focus on addressing the deficiencies afflicting the
health-care system as a whole. Reprisal attacks on doctors
by agitated relatives of patients who die during treatment
are known to happen. Such violence is invariably the result
of systemic problems that adversely affect optimal attention
to patients, such as infrastructural and manpower
constraints. It is apparent that doctors work in stressful
environments, sometimes under political pressure with
regard to admissions. Several States have enacted laws to
protect doctors and other health-care personnel from
violence. Last week, Union Health Minister Harsh Vardhan
wrote to State governments highlighting the need for
stringent action against anyone who assaults doctors. He
asked States that do not have a law to protect doctors
against violence to enact one, and circulated a 2017 draft of
a law that envisaged imprisonment besides recovery of

compensation from perpetrators for loss or damage to

property.

However, is such a law really effective? Ironically, West
Bengal, the epicenter of a strike that involved nearly the
entire medical fraternity across the country, has such a law
too. Like the law in most other States, the West Bengal Act
provides for a three-year prison term and a fine, which
could go up to 050,000, to anyone indulging in violence
against any “Medicare service person”, which covers
doctors, nurses, medical and nursing students and
paramedical staff. The offence is cognizable and non-
bailable. It also provides for recovery of compensation for
loss. Many other States have similar laws, with the one in
Tamil Nadu providing for a prison term that could go up to
10 years. It is clear that having this law did not prevent the
incident that sparked the latest agitation. There are no
figures available on how many times the medical service
person protection law has been invoked. In any case,
causing simple or grievous injuries to anyone is a criminal
offence under the Indian Penal Code. Treating the issue as
a law and order problem is just one way. The real solution
may lie in improving health infrastructure, counselling
patients about possible adverse treatment outcomes, and

providing basic security in medical institutions.



Sub questions

Question Number : 156 Question Id : 54592723387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage deals with one of the following Issues:

Options:

1. v Violence against doctors
2. % Deficiencies affecting the health care
3. * Medical service person protection law

4. = Basic security In medical institutions.

Question Number : 157 Question Id : 54592723388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author of the passage, what 1s the cause

behind the violent attacks on doctors?

Options:

1. = Stressful environments

2. v Systematic problems in the infrastructure and

manpower limitations.
3. = Lack of proper treatment and care of the patient

4. = Lack of attention to patients.

Question Number : 158 Question Id : 54592723389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, the real solution to the problem lies

in:

Options:



1. = Improving the health infrastructure
2. = Counselling Patients

3. = Basic security in medical institutions.
4,

v All of the above

Question Number : 159 Question Id : 54592723390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author of the passage feel that the law that

prevents violence against doctors Is Ineffective?

Options:

1. = There 1s lack of laws to protect doctors against

violence.

2. = Unwillingness of the government machinery and the

state.
3. » Lack of support from the medical fraternity.

4. v The incidents of violence against doctors occurred In
the states that already had a law to protect doctors against

violence.

Question Number : 160 Question Id : 54592723391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the given passage, what ended the week-long

strike by junior doctors In the state?

Options:



1. = Imprisonment besides recovery of compensation from

perpetrators for loss or damage to property.

2. » The need for stringent action against anyone who

assaults doctors.

3. = An attack on a junior doctor on June 10 over the

death of a patient.

4. v A meeting with the protesting doctors and an

assurance of their safety by the chief minister.
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592723392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GATHSIS H IULI hI-4T g7

Options:
1.+

2. v G
3. % gr
4, » THSIST

Question Number : 161 Question Id : 54592723392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRITASIST # 3T Flel-8T &7

Options:

1. = g

2

2.&??%*{#
3.&2@@
4. » TASTST

Question Number : 162 Question Id : 54592723393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AGLS e[S § YA DI-4T g2

Options:

1. % 3§

2. v 3%
3. % 3T
4. * TGT

Question Number : 162 Question Id : 54592723393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS s H T Fled-AT 87

Options:




1. =%

2. v 3TE
3. = 3T
4. « TR

Question Number : 163 Question 1d : 54592723394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

31T 31U 3MTT eIl elTSY| AT H FelTH T DI 97 A 7

Options:

1. » [HeEgeT®
2. % AT
3. * GHcITIh

4, v TSTaTad

Question Number : 163 Question Id : 54592723394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 39 37T JoT SM5T| IoFT H FAATH T i AT A &7

Options:

1. » Terergar<
2. = faeTgarrs
3. = goIdTIh

4. v Ta<aer

Question Number : 164 Question Id : 54592723395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel T # § hlN-9T S, I THT g7

Options:
1. * TTeI-Ucr
2. » Tiqierx

3. v JYTLMTh



4, » TAPAT

Question Number : 164 Question 1d : 54592723395 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed & & HId-AT s ITATHT TAT &7

Options:

1. % Erol-er
2. = UIdmeT
3. v gaamereg

4. = TToThHAR
o0

Question Number : 165 Question Id : 54592723396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEq T Terchorul # I=-AT Ter<ryum a1 He, 761 872

Options:

1. * GEITATTR

2. % TS
3. % Ge-THG

4. v JIddT=ID

Question Number : 165 Question Id : 54592723396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv @reur § Fia-ar f@Awor &1 A agr &7

Options:

1. » EIATAT<IhR

2. % SEISES
3. » OAATTHSR
4.

 —
v Jlllddlde

Question Number : 166 Question Id : 54592723397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T S, DT TelH S DIF-HT g7




Options:

1. v 3T

2. % U3
3. = 3Tell
4. % IqAX

Question Number : 166 Question Id : 54592723397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

34T oIsC T TANH s HileT-aT &7

Options:

1. v 30T
2. % 3UAS
3. » 3ol
4. % 3cd¥

Question Number : 167 Question 1d : 54592723398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI-TT AL " 3ITATA” DT T g1 g7

Options:

1. = AgATT
2. % WTgT

3. v Wi
4. * TN

Question Number : 167 Question 1d : 54592723398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hie-AT &g 'ATATT &7 9ATT I8l g7

Options:




4. = AT

Question Number : 168 Question Id : 54592723399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THATel G # 9 hl<-9T Teh ZIH GHTATLT 872

Options:

1. v GaH-a9
2. * Q- 917
3. ® JMMIT-UH
4, = GHT-UET

Question Number : 168 Question Id : 54592723399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfa@a & & FiF-87 U 77 FATATL 87

Options:

1. v Sgh-a T

« 2TU- S0

2.
3. % 3IGTad-"elad
4. » TrelT-YTe]

Question Number : 169 Question 1d : 54592723400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7o # foU 7 aR faemeul # & SrETA(Re) e[S T IIT el

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 91X

2. T
3. TE
4. gk

Question Number : 169 Question Id : 54592723400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




el H ST 90 IR Aredl # & 3TTT(IA) s FT TAT T |

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. TX
2. Oaate

3. gErR
4. g

Question Number : 170 Question Id : 54592723401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"I W A TG SATeAT"- ATHATET o 1ol TEU T Terdpeut & & STIHT L[,
qHT:

Options:

1. = gt
2. % Zgemigt
3. v JETB
4, * gid

Question Number : 170 Question Id : 54592723401 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Ig # TR TEe grer'- e & fov fu av fawedt A @

T | —
3YUFT eeE laAv:

Options:

1.w'gawmfr
2.&2@%’&%

Question Number : 171 Question Id : 54592723402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TR T SMiecd 37 &

Options:

1. » A9EA
2. v BT

3. * P&
4. = ATRMAT

Question Number : 171 Question Id : 54592723402 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ALY T ATecan T &

Options:

1. » HARH
2. v 3T
3. * Heal
4.

Question Number : 172 Question 1d : 54592723403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT e[S T Fgl 3T 3

Options:

4, » Ha-Tamd

Question Number : 172 Question Id : 54592723403 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THeaTder 2sc T ol 3CIELT &

Options:

1. v Medd-3{cd

2. % TH-BIlaT




3. % 379eA-YTaT

4. » FI-Tha

Question Number : 173 Question 1d : 54592723404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JUGDd Telei & Repd FATT el Tt <l ]
qie 31T S9E & Gef gl

Options:
1. = 3Md
2. v Tl

3. * 3T

4. % I

Question Number : 173 Question Id : 54592723404 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ugFd faeld & R Tumer & gfd FIa0]

gite 3T Seay o Wl B

Options:

1. = 317

2. v Tolg
3. % 3eolld
4.*3—]@

Question Number : 174 Question Id : 54592723405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ST TEU T 319 S BT Y €Y hI-4T 572

eI

Options:



1. v [

2. % TREDR
3. * TRg®R

4. % THPIT

Question Number : 174 Question Id : 54592723405 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oA fU a0 31e[g ofsg T UqE T HiA-AT &7

JE&ERR

2
Options:

‘I.JWIT
2. » JREPRT
3. » gRERN
4.%W

Question Number : 175 Question 1d : 54592723406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ZE @ EIW GG aTell- il & felq U MY ferherul # & IuGepd
T

Options:
1. * STHLLCTET
2. v &gt
3. * T

4. » qUg

Question Number : 175 Question Id : 54592723406 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ZEdl % AT aat arer- arRner ¥ faw e ae et # @
3UFT e AT

Options:




1. % 3TcHLTET
2. v Tosgreael

4. = T Eyg

Question Number : 176 Question 1d : 54592723407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

319 Y T I AT AT BT THR T3]

"gie, # BT dl 181s 7 g &ar!”

Options:

1. » Gegardm
2. = TereITeTad

3. * SI[BIATID

4. v Ghddad

Question Number : 176 Question 1d : 54592723407 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T T T & A& areFd &l Uil SIS0

"Jfe & gaT ar aI8E o &l an”

Options:

1. » Hegardeh
2. = ayrerarer

3. * ZTBASh

4. v ghdardeh

Question Number : 177 Question Id : 54592723408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATCl T # § Te[S "WITeT" &7 ATl 1T HaT gHT?




Options:

1. = YITeT=T
2. v Iedr
3. % QTG

~,

4. » YHZETET

Question Number : 177 Question Id : 54592723408 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H§ O ¢eg "HITdTal” T TATToleT AT FIT?

Options:

1. = S9TdTaAl
2. v HIradr
3. = HEIUI
4, % HIIGIST

Question Number : 178 Question 1d : 54592723409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT § & e[ "UTSHR" &l Sgera €Y HaT gHIT?

Options:

1. = TSt
2. * TSl
3. v UIohIG
4, * TSI

Question Number : 178 Question 1d : 54592723409 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITolEad & & eI "IToah" h SREECIRSIE S g1aT?

Options:

1. = OISRl
2. % TTSeh!

3. ¢ qToehgeq




4. = TTShT3

Question Number : 179 Question Id : 54592723410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THHATel T # 4 Y Thd I-TT g2

Options:

1. * 3R 39 G W &, arm?
2. * 3MITIh 39k HI4 & T g
3. » 3R IqH G F T gam
4. v IS Iqh i # T gar

Question Number : 179 Question Id : 54592723410 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i & & & g sle-ar §7?

Options:

1.« 3TTelh 3EH Hlel T &g g3
2. = 3TdTelsh 36k el T &G I
3. % 3IEh 38F Hel F &g g3
4. v 3TATeh 3TH Tl H & g3

Question Number : 180 Question 1d : 54592723411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATCl T ATRd @ Tl T T MY Telpe(dl # & Iqch YR @I AFT e

g AT <[ TYCHD g, ST AT & Tel] AT e
Options:

1. = HLeTdTPd

2'% +g'\ =~
3. v WIgdaTRT

-,

4. » ITATHA

Question Number : 180 Question Id : 54592723411 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frafe@T g & O T 91v Boedl & T 39 TFI &

T HY|

g8 giod T<dl USeHFd g, oif Ts¢ & folv AT A

Options:

1. = GIoldlFd

2. » FYFAATHY
3. v Ao
4,

® SUdlerd
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Question Number : 181 Question 1d : 54592723412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"HTAT SiT Gl @HT RAATYI" TG oTepd Thd it Bl ITg 37

Options:

1. » YT adar
2. % GHTZ Aiaqad

3. * MY
4. v AT

~ ~

Question Number : 181 Question 1d : 54592723412 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ATAT ST Heehl FTT [T g arad Tohd il hl 3EIEIU]

&7

Options:

1. % IHET JJHT

2. » HT HAasad

3. % I HeeT3]d

4. v GIATTT HATSad

Question Number : 182 Question Id : 54592723413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT § & g a1 DI-97 g7

Options:

1. * TH DT AT g4 BT 37T2AT 31
2. v TH D ST I B 3T 3
3. * W DT T g B T a0
4, % I Bl g g I Dl

Question Number : 182 Question 1d : 54592723413 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d & @ g g Fle-ar &7

Options:




1. * THA FT IefccoT glat R 3T F
2. v TH I eccllol gl HT TR F
3. = TH T A1 & glal T 3Meleaiiol
4. = A FT TSE & Iefcclon H|

Question Number : 183 Question 1d : 54592723414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ol Tl Tal T SATIT O & A1gL gl Mehel Gepll” Tg Thd eI aar
DA 52

Options:

1. » §%T dIpd
2. v 9gqd a1gd
3. = AT arpg
4. * IUATHY

Question Number : 183 Question Id : 54592723414 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"ol e TaT AT s H o & ST ASr foleher ThTI" TE fRH

UehX Rl TTaFd &7

Options:

1. = Il diay

2. v H-’:-l:ci—d GIETS)

3. = TAET g
4. % IUGTHT

Question Number : 184 Question Id : 54592723415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTGIT A" & P17 ohdT 9T T @leT § gldl 87

Options:

1. v el



2. % AT Plel

3. * TUienTel
4, » WL Dol

Question Number : 184 Question Id : 54592723415 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QI o' o ROT TohaT el e Tl & BT 87

Options:

1.«34@?»[

2. = TAHTeT hTel
3. = YUThTe
4. = TASTT hiel

Question Number : 185 Question Id : 54592723416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THATCl T # 9 IS aTpd DI-49T 82

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 3G9 [HdD T, TeldT
2. 3G [P T, o1y
3. 39 Jgd® GUS, #ill
4. 3G9 ggdDi GIUC, o1l

Question Number : 185 Question 1d : 54592723416 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d & & 3R[g aTFT Fia-AT &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 394 TETh TS o

2. 344 TETh g e



3. 38« J¥ds TS ol
4. 394 g{-dcﬁi T ol

Question Number : 186 Question 1d : 54592723417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v T&3MTST
2. % TR

3. % &M

4, * TIRATST

Question Number : 186 Question Id : 54592723417 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& T TATlT FT Flam?

Options:

1. v TEIARA
2.« T

3. » IEe

4. = IS

20

Question Number : 187 Question Id : 54592723418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THHATel G # § STeTelT ol YA TTelTT T gHIT?

Options:

1. * Seraml
2. % Seral=
3. = FotlarT
4. v goladr

Question Number : 187 Question Id : 54592723418 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fAFafo@aT & O so@rer T ENfeleT AT glem?

Options:

1. = Soldlal
2. % goldllel
3. % Folldlal
4. v §Folddar

Question Number : 188 Question 1d : 54592723419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TMTeT ST YgTere @l 37 T g2

Options:

1. v TGI-TUGT T U YT TAT
2. % GSI Tl TS AT § Dgl
3. = g7 919 TS AT

4, = TGl I TS B

Question Number : 188 Question 1d : 54592723419 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il FSTTaAT HETA T 37T F4T &7

Options:

1. v SGI-AGT hT 39l TeET hlal]
2. % 3T AT FT AT < A Fgal
3. * Foil ST T&9Mg el

4. » Tl 9 TS LAl

Question Number : 189 Question Id : 54592723420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eTiehitch T 319 3

Options:
=

1. = ol § 3MV=Teld 3

.

2. v ol § T=ield 3Tt




3. = Terd
4. » IS

Question Number : 189 Question 1d : 54592723420 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SlepITeFd =T 37 &:

Options:

1. = olleh H udreld 3d
2. v ollsh & yleld 3TeFd
3. % ST

o,

4, % =AM

Question Number : 190 Question Id : 54592723421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"G T U ol aIY” Uah:

1. * GTeRT gl

2. % ST gl

3. v eIk 3l

4, = ST T 9T 3l

Question Number : 190 Question Id : 54592723421 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"OT T HAT olhT IT" Th:
Options:

1. = HEET g

2. = SEHILT B

3. v dlRIeFa &l

4, = TTEUT &1 AT &

Question Number : 191 Question 1d : 54592723422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HETaT 37U ST e 379

Options:

1. * MR Icerdr 3l

2. v T gl acaAdar al
3. » i@ giar &l
4, = FSTHe] FcerdT gl

Question Number : 191 Question Id : 54592723422 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HBTeRT 39elT areciideh 37ef:

Options:

1. » foaY scoar &
2. v FHT o8l dcoldrl gl
3. » g+ arar &l

4, = TCThel Scoldl gl

Question Number : 192 Question 1d : 54592723423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S AT S QAT elidih @ 319 &

Options:

1. * ATTHTY FTUATY WTS-9TS|
2. v &N U AT gl

3. * TS 36l GTUATE 376t
4, = dUETT el

Question Number : 192 Question Id : 54592723423 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 AETATYT d8 HI9aTe dlehiled T 3T &

Options:

1. % SR HIgeTd HE-HTS|
2. v Tl Uk AT &l




3. = SATITATY 37oTeT TTUT2 3TelaT

4. = STTAT2T 3Told]

Question Number : 193 Question 1d : 54592723424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FiTel TEq 7T A o Rpd FATT BT UYEHA Farerd & T4 DIl
BN &Y HIeX FTelT T 31 1]

Options:

1. * S Hed
2. v e TIRA Bld
3. = Jg W@d
4. e Gleil gid

Question Number : 193 Question Id : 54592723424 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o feU a0 Ry o Rk TATeT T 3ugFT HEA & 90 FiS0
|

f&arar sr &1 AT ATelled & ar 17|

Options:

1. = SIF shed
2. v 9F INH BId
3. = 3§ @
4, » S§ gGlell g

Question Number : 194 Question 1d : 54592723425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




S U Y eTepd o Teepd GUT Dl Jugepd Hgrae § T DIyl

qH L 9T T, qHgiT T I

Options:

1. v STl A1pT
2. % STl STY
3. % ol thellH]

4. % el hIcH]

Question Number : 194 Question Id : 54592723425 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At U 910 AT F ReFd T T STGFS HFAX § [ RS0
|

IH AL A1 T@l, TN o B9

Options:

1. ¢ STel Slh]

« ®Tel STeT

« STel thelTell

-l

# olel enlcdl

Question Number : 195 Question Id : 54592723426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTHATel G MY AT Dl TENTel & IR JgTerkl # F fehdl T § AU

Ig ST U T 8T GHerdT 39dr 3ira)

Options:
1. % § T IqT AT Bl
2. * WX Tyl T ST, 916 4T 3

3.« KRl T e SR &




4, v T TRIT TS T &l

Question Number : 195 Question 1d : 54592723426 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d argd arrat &1 A or Jgadd /& @ Ry
T I 9Tl

9g THASS 9T T oIg] ASIAT| 3T 3@l |

Options:

1. = # Tef 3¢ 31T &

2. = 9T Tl T S 9 14T &
3. « H ThET o 4o =l &7 &

4, v 9 &I 9T AT T

Sub-Section Number: 2
Sub-Section 1d: 5459271392
Question Shuffling Allowed : Yes

Question Id : 54592723427 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



T el T TTENTSr Sl UGehd S8 el Ted UET & Iqae ¢y

gl & GohdTl hdT W Tere[amd-ur [ g1, UGN 39 IH Dl &g 370+ I
g1 of GhdTl ZH T ST T Tl DT 3T & JTY Y, FIGATT bl
ToITg el PraeTdTgeien AT, T S STd Bl MI%Id GHSINT hl GATL DIAT & g
GHTIT T4T & AT Ud gidT, gH 370+ T 3R THUig &l gad=dT @l
ZGATYEd STY T@HT A3 N T&T Y I8 T A=t Fal § 3qdT 1A
T FU T GIM S=iT S8 T F Ieit Tgd W [, W 39 a7 Bt T @
T g TAT Pl of AT gl T & Fad=aT @7 Aderel oYer hf HIRAT
T YpId chl AT gl gl 31U GG H hidel Tgl 3T 310 ILLAT
I TG 39 YR T4 3R S(ET S 11 U #T Dl T AT g3 7
TGl S AU STUAT ofg g T g1 SR T@T g, I 51 SHBT 1T F
SIGIE]

YR H UH-UY 6 RIqd AU & T g NgIH AL &H dh IqT &l &b
gl BIS!, TUHT IATTAT & e DIS DA gl bl TSI IRATG dh FUT
ZqAT AT 31Ts, TR 3gIA 31UHT I gl DIl

~,

Sub questions

Question Number : 196 Question Id : 54592723428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SURId eI h AR AYT P 30 U Thd MU T ol TGyl

Options:

1. v 37U Terder & 3R T

2. = T0AT &l TaolTg W

3. % U AW & ATYR TR
4. » TRFT & rTHAl Bl TP

Question Number : 197 Question Id : 54592723429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A I 7T F3AT TG Bl 3T g

Options:

1. = H7er AT




2. % 39 g1
3. v 3q9Tga Gl

4, = ST AT

Question Number : 198 Question Id : 54592723430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qadFar @ feli BITey:
Options:

1. = gaTear

2. % TUTdAdl
3. v Udadr
4, % YRTYAT

Question Number : 199 Question Id : 54592723431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=, .
SR TS & IEAR MAATRIT aTpd T YehTL FdATST|

31U g H ifoT TG 3T 310 ITUAT i ST W@’

Options:

1. » QT
2. % T
3. = STeel

4. v TR

Question Number : 200 Question Id : 54592723432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

JWIpd eIl @l Juehd STk HaT gHT?

Options:

-,

1. » gaTeisl &l

2.« gETOwTE

-

3. v AT a1

-

4, * TgUTd= o)




Question Id : 54592723427 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

farafaf@a srgrer o vght 38 Fafdd weal & 3cav dfov)

e AT el TMGY, SHRI Seh-Sleh el FRI shl ST BlaT,

GO S BN & FhaT| T o feard-ury AT B, IR 3w
RIH I T& 390 FUT 6] of ThdT| H 3TIsTdT o T ST
I 3T & AT oA, AT HT Tollg F FA AR HAldl, T
=T S0 1 Tdead GHASTHRT I AN HTAT & & §ART &1 T
&HART Uda g1, &4 39a o= 3K oot fr sodadar 1
AT lTU IW=AT TTfgV| o8 q&W hr efse HeT =T @i
& 39T 8T el FUT o g1 Tl Ti5e W & T e
9T 189, 9T 39 AT ol of W o IJ& JEAT Fal of ST gl
RIceT T TFTATAT T ATAS USST T FHORAT AT Yhicd FHT 3arar
T8l &1 3Uel SUGER H HidAe B 3T 37 38231 7 3o &t
ZH Wb ofH 3 3T glal §all| 39a HAo Sl FHT 7 &l
o TET| S AT 3T o6 [Sidelm 81 3uT & g, 3 g
3TRT dR FUL AT B

TR A 0Q-0F 7§ e Ao 81 90 § Tolegledl A aH dh
G &l &F 1@l BI8l, JUal AT & [a%E FIg HIH «dal [T
IS e & FUT Sdal [A9icadl S, I 3ealal 3Te
gcg olgr BTl

Sub questions

Question Number : 196 Question Id : 54592723428 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



STIFT TN F 3TN HIsF hT 30 oy fohg 3R o
ECESIRY

Options:

1. v 39a @3 & 3R W
2. = TR FT Fog W

3. » 3Tl 3eIHT & IMIN T
4. » TRAT & 3TTs1aT T SATART

Question Number : 197 Question Id : 54592723429 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

maﬁmgmwﬁmmmﬁl

Options:

1. = ToITer @
2. » 33/ {gdl

3. v 3cargeld IgaT

4. % AT TGl

Question Number : 198 Question Id : 54592723430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FIJIAT FT TellH BT

Options:

1. » Taredierdr
2. = JOTAFAT

3. v WRdIdar
4, = QAT

Question Number : 199 Question Id : 54592723431 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ST AEITET o AR folzaifeli@&d areFa T JhR S350

'HUa STGER H HiA @ 3T 3ua 322 &1 3T Tar|'

Options:

1.« T
2. = A
3. = Sffeel
4.%3‘:&%&?

Question Number : 200 Question Id : 54592723432 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TUFA T FT 39GFA ATk FT glam?

Options:

1. = TITdel8] Sal)
2. % TIITHHATAT Sl

3. v EadIAdr el

4. = TUTa &)



